Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in **Odisha**, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	ension (in M.)/Are	ea of the site (in	Finance to be a applicant	arranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount.	Security Deposit (Rs. Lakhs)
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular / Rural	MS+HSD in KIs	SC	CC / DC / CFS	Frontage	Depth	Area	Estimated	Estimated fund	Draw of Lots /		
					SC CC-1		1			working capital requirement for	required for development of	Bidding		
					SC CC-2		1			operation of RO	infrastructure at			
					SC PH		1				RO			
					ST		1							
					ST CC-1		1							
					ST CC-2		1							
					ST PH		1							
					OBC		1							
					OBC CC-1		4							
					OBC CC-2		-							
					OBC PH		1							
					OPEN		1							
					OPEN CC-1		1							
					OPEN CC-2		4							
					OPEN CC-2		_							
					OPEN PH									
	From Bajichowk-Similia Railway													
	Flyover to Kaimati on Dhenkanal-											Draw of		
1	Kapilash-Gondia-Bhuban Road	DHENKANAL	RURAL	80	SC	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
2	Bandhugaon.	KORAPUT	RURAL	81	ST	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
3	Madanpur, on Rishida road.	KALAHANDI	RURAL	120	SC	CFS	30	25	750	0	0	Lots	0	2
	Haradakhol Chowk to Arjunpur											Draw of		
4	Chowk, sonepur	SONEPUR	RURAL	40	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 2 KM from Nikirai on											Draw of		
5	Kendrapara Indupur Road	KENDRAPARA	RURAL	72	SC	CFS	30	25	750	0	0	Lots	0	2
	1 Km from Junction Of Dabha-													
	Jharbandh road and Dabha-											Draw of		
6	Diwanpali Road towards Diwanpali	BARGARH	RURAL	35	ST	CFS	30	25	750	0	0	Lots	0	2
	MV37 (within 3KM from any side) in											Draw of		
7	block Korkonda.	MALKANGIRI	RURAL	90	ST	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
8	Village Rangamatia,Block - baripada	MAYURBHANJ	RURAL	115	ST	CFS	30	25	750	0	0	Lots	0	2
	2KM Stretch From Remuna Golai													
	towards Kharagpur, on Service road											Draw of		
9	of NH16,LHS	BALASORE	REGULAR	240	SC	CFS	35	45	1575	0	0	Lots	0	3

	Г		1		1			1	1			1		
	Francisco Mandinto													
	From Hanuman Mandir to											D of		
40	Government Polytechnic College on	NAALI/ANGIDI	DECLUAD.	405	CT	CFC.	20	20	400	•	_	Draw of		2
10	Chalanguda Road via Palasai	MALKANGIRI	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 9 km of Tiring on NH220,In											Draw of		
11	Mayurbhanj Distt	MAYURBHANJ	REGULAR	160	ST	CFS	35	45	1575	0	0	Lots	0	3
	From Kendrapara District Court													
	towards SH-9A on LHS of Garapur											Draw of		
12	Main Road	KENDRAPARA	REGULAR	120	SC	CFS	20	20	400	0	0	Lots	0	3
	Within 2 KM from from Rakshapulia											Draw of		
13	Chowk towards Sonepur	SONEPUR	REGULAR	110	ST	CFS	30	25	750	0	0	Lots	0	3
	within 3 km from KUNDUKELA ON													
	SH 10, on left hand side towards											Draw of		
14	sundargarh .	SUNDERGARH	REGULAR	153	ST	CFS	35	35	1225	0	0	Lots	0	3
	Within 3.5 KM from Sahajpal Chowk													
	on NH 57 (OLD NH 224) on LHS											Draw of		
15	towards Manamunda	BOUDH	REGULAR	150	SC	CFS	35	45	1575	0	0	Lots	0	3
	Rajkiari chak to Gania chak (On											Draw of		
16	Baghamari daspalla state highway)	NAYAGARH	REGULAR	110	SC	CFS	35	35	1225	0	0	Lots	0	3
-10	WITHIN 5KM FROM BUDHAPAL	10/11/10/1111	INEGOED III	110	30	C1 3	- 33	33	1223			2013		
	CHOWK TOWARDS DEOGARH ON											Draw of		
17	NH- 6	DEOGARH	REGULAR	165	SC	CFS	35	45	1575	0	0	Lots	0	3
1/	NH- 0	DEUGARH	REGULAR	103	30	CF3	33	43	1373	U	U	LUIS	U	3
	Govindpali Junction to Maa											Draw of		
10	<u>'</u>	MALKANCIDI	DECLUAD	1.05	CT.	CEC	25	45	1575	0	0		0	2
18	Bhairabi Temple Mathili on NH326.	MALKANGIRI	REGULAR	165	ST	CFS	35	45	1575	U	U	Lots	0	3
	Laukhala chak to Sambhab Nursery											D		
	on SH(Nayagarh Odagaon Laukhal					050	25		4005			Draw of		
19	road)	NAYAGARH	REGULAR	110	ST	CFS	35	35	1225	0	0	Lots	0	3
	Karanjia to Swampatna Dhenkikote											Draw of		
20	on SH49 in Mayurbhanj district.	MAYURBHANJ	REGULAR	100	ST	CFS	35	35	1225	0	0	Lots	0	3
	In between Bhojpur to Karamdihi													
	on RHS towards sundergarh on SH-											Draw of		
21	10	SUNDERGARH	REGULAR	150	ST	CFS	35	35	1225	0	0	Lots	0	3
	Within 2 Km from													
	Narsinghpur,Panchamuhi Chack											Draw of		
22	towards Athagarh on LHS of SH-65	CUTTACK	REGULAR	230	SC	CFS	35	35	1225	0	0	Lots	0	3
	Within 3 km from Kanaktora on											Draw of		
23	NH 49 (old NH 200).	JHARSUGUDA	REGULAR	168	ST	CFS	35	45	1575	0	0	Lots	0	3
	At Kandhpara village on SH 24, in											Draw of		
24	Athmalik block	ANGUL	REGULAR	100	SC	CFS	35	35	1225	0	0	Lots	0	3
	Within 3.5KMs from Umerkote											Draw of		
25	towards Jharigaon on ODR.	NABARANGPUR	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
	In between DULANGA coal mines											Draw of	-	
26	office to darlipali.	SUNDERGARH	RURAL	150	OBC	DC	30	25	750	12	30	Lots	5	3
	office to duripuit.	SSIDENGAMI	TOTO IL	130	ODC	DC	30	23	, 50	12	30	LOG	,	,

	Within 2 km from Nuapali on Canal											Draw of		
27	Road towards Bargarh	BARGARH	RURAL	61	ST	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
28	Telenpali	JHARSUGUDA	RURAL	55	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 5 Kms from bargarh private													
	bus stand towards bheden (not											Draw of		
29	within Muncipality)	BARGARH	RURAL	50	OPEN	DC	30	25	750	12	30	Lots	5	4
	In BRAJRAJNAGAR on Lajkura mines	D/ III G/ III I	ROTOLE	30	OI EIV	- DC	30	23	730		30	Draw of		
30	to 9 NUMBER MINES road.	JHARSUGUDA	RURAL	160	ОВС	DC	30	25	750	12	30	Lots	5	3
30	to 3 Nowbert Will tes Toda.	311/11/300002/1	ROTOLE	100	OBC	- DC	30	23	730		30	Draw of		
31	Gunpur, (on Th Rampur Road.)	KALAHANDI	RURAL	70	SC	CFS	30	25	750	0	0	Lots	0	2
- 31	In RAJABASA on Narendra chowk to	KALAHANDI	NONAL	70	30	CIS	30	23	730	-	0	Draw of	- 0	
32	Gurundia road.	SUNDERGARH	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
32	Within 3 km from Darlipali bus	JONDENGARIT	NONAL	70	OFLIN	DC	30	23	730	12	30	Draw of		-
33	stand towards NTPC plant.	SUNDERGARH	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
- 33	Within 2KM from Mukhiguda	JONDENGARIT	NONAL	100	OFLIN	DC	30	23	730	12	30	Draw of		
34	Chowk towards Jaipatna.	KALAHANDI	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
34	Within 5KM FROM BALIJURI	KALAHANDI	NONAL	80	ОВС	DC	30	23	750	12	30	Draw of		
35	CHOWK TOWARDS KOLABIRA	JHARSUGUDA	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
- 33	From Baikathpali chowk to Taparira	JIIANSOCODA	NONAL	100	OFLIN	DC	30	23	750	12	30	Draw of		
36	border on Raigarh road	SUNDERGARH	RURAL	60	ST	CFS	30	25	750	0	0	Lots	0	2
30	Within 2 KM from BANESWAR	JUNDENGANH	NUNAL	00	31	CF3	30	23	730	U	U	Draw of	- 0	
37	TEMPLE on Bonai link road.	SUNDERGARH	RURAL	150	OBC	DC	30	25	750	12	30	Lots	5	3
37	TEIVIPLE OII BOIIdi IIIIK TOdu.	JUNDENGANII	NUNAL	130	OBC	DC	30	23	730	12	30	Draw of	3	3
38	Mahimunda, on ODR.	BOLANGIR	RURAL	80	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
36	In Jhirpani, on police chowk to	BULANGIK	KUKAL	80	OPEN CC 1	DC	30	25	730	12	30	LOIS	3	4
	church chowk road outside rourkela											Draw of		
39	municipal limit.	SUNDERGARH	RURAL	170	OPEN	DC	30	25	750	12	30	Lots	5	4
39	Within 1KM from Gudvela Bus	SUNDERGARD	KUKAL	1/0	OPEN	DC	30	25	730	12	30	Draw of	3	4
40	Stand Chowk towards Tusra.	BOLANGIR	RURAL	80	SC	CFS	30	25	750	0	0	Lots	0	2
40	Stand Chowk towards Tusta.	BULANGIK	KUKAL	80	30	CF3	30	25	730	U	U	Draw of	U	
41	JAMKANI ROAD	JHARSUGUDA	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
41	Within 3KM from Rupra Road Post	JHAKSUGUDA	NUNAL	00	OBC	DC	30	23	730	12	30	Draw of	3	3
42	'	KALAHANDI	DLIDAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
42	Office towards Kesinga. SAHAJBAHAL, on jharmunda	KALAHANDI	RURAL	80	OPEN	DC	30	25	730	12	30	LOIS	3	4
	· •											D of		
43	hanuman temple to charpali bus	IIIABCIICIIDA	DUDAL	60	ODEN	DC	30	25	750	12	30	Draw of	-	4
43	stand road .	JHARSUGUDA	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
44	KADIAIODI	IIIABCIICIIDA	DUDAL	60	CT.	CEC	20	25	750	0	0	Draw of	0	
44	KARLAJORI	JHARSUGUDA	RURAL	60	ST	CFS	30	25	750	0	0	Lots	0	2
45	Bijadihi On Bhasma to Sargipalli	CUNDEDCARU	DUDAL	100	ODC	DC	20	25	750	12	20	Draw of	-	1
45	Road	SUNDERGARH	RURAL	100	OBC	DC	30	25	750	12	30	Lots	5	3
40	Between milestone 2 and 5 on	CUNDEDCARU	DUDAL	160	ODEN	DC	20	25	750	12	20	Draw of	-	1
46	Tensa - Koira road.	SUNDERGARH	RURAL	160	OPEN	DC	30	25	750	12	30	Lots	5	4
47	lhorigo m	NADADANCDUD	DUDAL	90	ODEN CC 3	DC	20	25	750	12	20	Draw of	-	
47	Jharigam	NABARANGPUR	RURAL	80	OPEN CC 2	DC	30	25	750	12	30	Lots	5	4

	Within 2KM from Badmal													
	Ordinance Factory main Gate											Draw of		
48	towards Bargaon.	BOLANGIR	RURAL	80	OBC CC 1	DC	30	25	750	12	30	Lots	5	3
												_ (
40	Pitamahul to Dhaurakhaman on	CONFRID	DUDAL	60	56.66.1	CFS	20	25	750	0	0	Draw of	0	,
49	Balangir-Sonepur-Rairakhol Road Nuamunda chowk to parmanpur	SONEPUR	RURAL	60	SC CC 1	CFS	30	25	750	U	U	Lots Draw of	0	2
50	chowk	SAMBALPUR	RURAL	120	OPEN	DC	30	25	750	12	30	Lots	5	4
30	WITHIN 3 KM FROM HIKUDI CHOWK	SA NATIONEL OIL	TOTOTE	120	OI LIV		30	23	750	- 12	30	Draw of	3	-
51	ON HIKUDI ROAD	SONEPUR	RURAL	130	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
52	IB THERMAL TO KUMARBANDH	JHARSUGUDA	RURAL	95	OBC	DC	30	25	750	12	30	Lots	5	3
	Between Jhankarpali to											Draw of		
53	Pardesipada Dhankouda Block	SAMBALPUR	RURAL	60	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 5KM from Deypur towards											Draw of		
54	Pastikudi on ODR.	KALAHANDI	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
55	Village- Tainsar, on kalunga gurundia road.	SUNDERGARH	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
- 33	gui unula roau.	JUNDERGARH	NUNAL	70	OPEN	DC	30	23	730	12	30	Draw of	3	4
56	RAMPELA IN LAKHANPUR BLOCK	JHARSUGUDA	RURAL	65	OBC	DC	30	25	750	12	30	Lots	5	3
	Kalampur (Within 1KM from Post													
	Office towards Kalampur Main											Draw of		
57	market on MDR)	KALAHANDI	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 1KM from Khalipatar-Juba													
	chowk towards Dhumabhata on											Draw of		
58	ODR.	BOLANGIR	RURAL	80	SC	CFS	30	25	750	0	0	Lots	0	2
	Character CH	DARCARU	DUDAL	75	ODEN	D.C.	20	25	750	42	20	Draw of	-	
59	Ghens not on SH VILLAGE- BHOIPALI ,on GARPOSH	BARGARH	RURAL	75	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
60	ROAD .	SUNDERGARH	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
- 00	Kadobahal village(NOT ON SH),	JONDENGARIT	NONAL	00	OBC	ЪС	30	23	730	12	30	Draw of		,
61	Bargarh dist	BARGARH	RURAL	65	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
												Draw of		
62	At Behera	KALAHANDI	RURAL	80	ST	CFS	30	25	750	0	0	Lots	0	2
	In between bandhbahal to chharla											Draw of		
63	ubuda	JHARSUGUDA	RURAL	100	OBC	DC	30	25	750	12	30	Lots	5	3
	Within 6 KM from Deogaon Bangla											Draw of		
64	Chowk towards Tusura.	BOLANGIR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
C.E.	Within 2KM from Udyanbandh	NULADADA	DUDAL	00	OPEN	DC.	30	25	750	12	30	Draw of	-	4
65	towards Lathore on ODR. Between Bandhbahal to Dalgaon	NUAPARA	RURAL	90	UPEN	DC	30	25	750	12	30	Lots Draw of	5	4
66	Chowk towards OPGC.	JHARSUGUDA	RURAL	100	OBC	DC	30	25	750	12	30	Lots	5	3
30	Within 1KM From Tikrapada High	311/11/3000DA	NONAL	100	050	50	30	-23	, 50		30	2013	,	
	School towards Bhutiarbahal on											Draw of		
67	MDR.	BOLANGIR	RURAL	80	SC	CFS	30	25	750	0	0	Lots	0	2
	Within 2 kms from Goshala Bus											Draw of		
68	stand towards Chaurpur	BARGARH	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4

	Within 4 km from Kumelsingha													
	Chowk(Godbhaga) towards											Draw of		
69	Larambha	BARGARH	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
70	Palana	KALAHANDI	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
												Draw of		
71	Karlamunda	KALAHANDI	RURAL	80	ST	CFS	30	25	750	0	0	Lots	0	2
	WITHIN 3 KM FROM GUHALDIH											Draw of	_	_
72	TOWARDS BARSUAN	SUNDERGARH	RURAL	155	OPEN	DC	30	25	750	12	30	Lots	5	4
72	Within 2KM from Chiliguda towards	KALAHAMDI	DUDAL	70	OPEN	DC	20	25	750	12	20	Draw of	5	
73	Junagarh on MDR.	KALAHANDI	RURAL	70	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
74	Within 4KM from Raj khariar towards sinapali on either side.	NUAPARA	RURAL	80	OBC PH	DC	30	25	750	12	30	Lots	5	3
/4	towards smapan on either side.	NUAPARA	KUKAL	80	OBCPH	DC	30	25	750	12	30	Draw of	3	3
75	Michapali, on Biju Expressway.	NUAPARA	RURAL	80	ST PH	CFS	30	25	750	0	0	Lots	0	2
/3	iviiciiapaii, Oli Biju Expressway.	NOAFANA	NONAL	80	31 F11	CI3	30	23	730	U	U	LOUS	- 0	
	Within 3 KM from New Jhankarpali													
	Chowk on road connecting new											Draw of		
76	Mahanadi bridge to churpur	SAMBALPUR	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 1KM from Kholan Govt.											Draw of		
77	Hospital towards Titlagarh.	BOLANGIR	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
78	Khaira	NUAPARA	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	within 1 km from Triveni Chowk											Draw of		
79	within Bhimtikira Panchayat	SONEPUR	RURAL	50	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
80	Tentulikhunti	NABARANGPUR	RURAL	100	SC	CFS	30	25	750	0	0	Lots	0	2
	Within 1KM from Mohandi Primary											Draw of	_	_
81	School towards Jharigaon on ODR.	NABARANGPUR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
00	Namedanama	NUAPARA	DUDAL	80	ОВС	DC	30	25	750	12	30	Draw of	5	3
82	Mundagoun Within 1 KM from Kaudiamunda	NUAPAKA	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Chowk towards Kaintara Village on											Draw of		
83	LHS on Canal Road	SONEPUR	RURAL	75	OPEN	DC	30	25	750	12	30	Lots	5	4
- 55	Beltukuri (On Khariar-Bhandarpuri	SOIVERON	KOTULE	,,,	OI LIV		30	23	750	12	30	Draw of		-
84	Road.)	NUAPARA	RURAL	70	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 1KM from Baloda Chowk													
	towards khariar Road on Khariar-											Draw of		
85	Bhandarpuri Road.	NUAPARA	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Keshripali Chowk to Mahulpali											Draw of		
86	Chowk, Bargarh Dist.	BARGARH	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
87	Runimahul Village - on MDR 19	SAMBALPUR	RURAL	70	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
	Within 2 Km from Binka Tehsil											Draw of		
88	Chowk towards Sonepur	SONEPUR	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3

	Within 2.5 Km from Khuntlipali											Draw of		
89	Chowk towards Deshbhatli Village	BARGARH	RURAL	55	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 2 KM from Lakhamara													_
	college on bhandarpuri - padampur											Draw of		
90	road	BARGARH	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
30	Within 1KM from A B College	2, 11.0, 11.11	1101012	, ,	0.2		- 50		750		- 50	Draw of		
91	towards Kegaon town on ODR.	KALAHANDI	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
31	Within 2KM From Bongamunda	10 (2) (1) (172)		100	0.2.0				750			Draw of		
92	towards Sindhekela on ODR.	BOLANGIR	RURAL	100	OBC	DC	30	25	750	12	30	Lots	5	3
32	towards smartened on obta	DODWOW	TOTULE	100	OBC		30	23	730	12	30	LOUS	3	
	In between Barpali to garjanbahal											Draw of		
93	on sundergarh - hemgir road.	SUNDERGARH	RURAL	120	SC	CFS	30	25	750	0	0	Lots	0	2
33	Within 3.5 KM FROM GANDHI	SONDENGARRI	TOTOTE	120	30		30		730			Draw of	•	_
94	CHOWK TOWARDS DARLIPALI.	JHARSUGUDA	RURAL	163	OPEN	DC	30	25	750	12	30	Lots	5	4
34	Within 4KM From Nabarangpur	JIIANGOODA	NONAL	103	OFER	DC	30	23	730	12	30	Draw of		7
95	Town towards Hirli on ODR	NABARANGPUR	RURAL	120	OPEN	DC	30	25	750	12	30	Lots	5	4
33	2 KM FROM COCA COLA BOTTLING		NONAL	120	OI LIV	50	30		, 50		30	2013	,	1
	PLANT IN IDC KALUNGA towards RIT											Draw of		
96	college.	SUNDERGARH	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
30	conege.	SONDENGARIT	TOTULE	100	OI EIV		30		730		30	2013		-
	within 1 km from Laudidhara village											Draw of		
97	forest gate towards Dongripali	BARGARH	RURAL	95	OBC CC 1	DC	30	25	750	12	30	Lots	5	3
3,	From Korua Police Sub post to	D/ III G/ III I	TOTULE	33	OBC CC I		30		730		30	Draw of	,	
98	Korua Medical	KENDRAPARA	RURAL	60	SC CC 1	CFS	30	25	750	0	0	Lots	0	2
30	Kathasirsi Under Paktia GP, Block -		1101012		30 00 1	0.0	- 50		750			Draw of	-	_
99	Suliapada	MAYURBHANJ	RURAL	51	OPEN PH	DC	30	25	750	12	30	Lots	5	4
33	At Katarapada, between		1101012		0.2		- 50		750		- 50	2015		
	Bhalumunda Chowk to Parjang NH											Draw of		
100	53 junction	DHENKANAL	RURAL	70	OBC	DC	30	25	750	12	30	Lots	5	3
100	Jhinkiria chowk to Manida new	2112111011111	1101012		050				,,,,		- 55	Draw of		
101	Govt high school, Morada block	MAYURBHANJ	RURAL	85	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of	-	
102	Village Kendeiposi, Block - Patna	KEONJHAR	RURAL	100	ST	CFS	30	25	750	0	0	Lots	0	2
	Amarada(Gaon Amarada) to		- "									Draw of	-	<u> </u>
103	Rajghat,LHS, Mayurbhanj Distt	MAYURBHANJ	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
	At Kantor, in Parjang Block in	<u> </u>												
	Kantor-Mahabirod Road (not on											Draw of		
104	NH)	DHENKANAL	RURAL	70	OBC	DC	30	25	750	12	30	Lots	5	3
	,											Draw of		
105	Village Kaliasole, Mouza - Kaliasole	MAYURBHANJ	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
	Ghatgaon on Keonjhar-Ghatgaon	<u> </u>										Draw of		
106	Road.(not NH)	KEONJHAR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 2 kms of Oupada college,													
	towards Gandibed, on Oupada											Draw of		
107	Gandibed road.	BALASORE	RURAL	75	SC	CFS	30	25	750	0	0	Lots	0	2

	Chatabar Chhakk to Manjuri Road													
	Police station, via Narayanpur,											Draw of		
108	Tulapadi	BHADRAK	RURAL	75	OBC	DC	30	25	750	12	30	Lots	5	3
	Soro Government Hospital to													
	Anantapur Chakk, on Soro-											Draw of		
109	Anantapur Road	BALASORE	RURAL	120	OPEN	DC	30	25	750	12	30	Lots	5	4
	At Sankhamur village on Rengali													
	Dam-Khamar Road in Pallahara											Draw of		
110	Block	ANGUL	RURAL	50	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
	At Motunga, on Meramundili-											Draw of		
111	Motunga Road in Dhenkanal district	DHENKANAL	RURAL	50	ST	CFS	30	25	750	0	0	Lots	0	2
	At Kukudanga on Caltax											Draw of		
112	Chhak, Angul-FCI Township Road	ANGUL	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Within 4Kms, from Balighat Bridge											Draw of		
113	towards Baincha	BALASORE	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
	Sarsida to Paschimbad on Jaleswar											Draw of		
114	Kapasia Road	BALASORE	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
												_		
	Within 2km of Anji Market Chhakk.,											Draw of		
115	on Gopalpur Anantpur Road	BALASORE	RURAL	75	OBC	DC	30	25	750	12	30	Lots	5	3
	Langaleswar Chhakk to Mandhata											_		
	Chhakk, on Jamashuli Langaleswar											Draw of		
116	Road	BALASORE	RURAL	105	ST	CFS	30	25	750	0	0	Lots	0	2
	Haldipada chakk to Panchupada													
1	Bridge, on Haldipada-Panchupada											Draw of	_	_
117	Road	BALASORE	RURAL	95	OPEN	DC	30	25	750	12	30	Lots	5	4
	DANGARPAUNSI JUNCTION TO													
	PRADHANIPUT ON JAYANAGAR													
	DANGARPAUNSI KUNDRA													
440	ROAD,KUNDRA BLOCK,DIST-			400	0.554		20	25	750	4.0		Draw of	_	
118	KORAPUT	KORAPUT	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
440	Dolasahi Village, on the road from	DUADDAK	DUDAL	60	one	D.C.	20	25	750	42	20	Draw of	-	2
119	Harisankarpur to Radhang	BHADRAK	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
420	At Kulei on Kulei-Pitiri Road in	ANGUI	DUDAL	F0	66	CEC	20	25	750		_	Draw of	•	2
120	Angul District	ANGUL	RURAL	50	SC	CFS	30	25	750	0	0	Lots	0	2
	Haradanga village to VITAM College											D of		
121	towards Biswanathpur Village(ON	CANIANA	DUDAL	00	OPEN	DC	20	25	750	12	20	Draw of	_	4
121	RHS).	GANJAM	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
	1.5KM From Karapalli chowk											Draw of		
122	towards Gopalpur on Gopalpur Road(ON LHS)	GANJAM	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
122	village - Gorumahisani ,block -	GANJAW	KUKAL	100	UPEN	DC	50	25	/50	12	30	Draw of	э	4
123	Gorumahisani	MAYURBHANJ	RURAL	65	OBC	DC	30	25	750	12	30	Lots	5	3
123	Sareikul to Naugaon on	IVIATUNDHANJ	NUNAL	03	OBC	DC	30	23	730	12	30	Draw of	3	3
124	Jagatsinghpur Road	JAGATSINGHPUR	RURAL	80	ST	CFS	30	25	750	0	0	Lots	0	2
124	Jagatsiligilpul noau	MONISHINGHPUR	NUNAL	ου	31	CF3	30	23	730	U	U	LUIS	U	

		1	1		1			ı — —	ı — —		1	1		
	From Lamtaput Chowk to Sagara											Draw of		
125	Mosque on Jolaput Reservior Road.	KORAPUT	RURAL	65	OPEN	DC	30	25	750	12	30	Lots	5	4
123	Within 1KM from Chaudakulat	KUKAPUT	NUNAL	03	OPEN	DC	30	23	730	12	30	Draw of	3	4
126	chack towards Bari on LHS	KENDRAPARA	RURAL	70	OBC	DC	30	25	750	12	30	Lots	5	3
120	Cliack towards Barroll Ens	KENDRAPARA	NUNAL	70	OBC	DC	30	23	730	12	30	Draw of	3	3
127	Village-Balitutha, on Ersama Block	JAGATSINGHPUR	RURAL	110	OPEN	DC	30	25	750	12	30	Lots	5	4
127	Village-Balitutila, Oli Elsailla Block	JAGATSINGHPUK	NUNAL	110	OPEN	DC	30	23	730	12	30	LUIS	3	4
	Within 2 KMs from Biraja Temple											Draw of		
128	towards Singhpur on LHS	JAJPUR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
120	At Tumusingha within 3 km of	JAJI OK	NONAL	00	OFEN	DC	30	23	730	12	30	Draw of		-
129	Tumusingha Police Station	DHENKANAL	RURAL	50	SC	CFS	30	25	750	0	0	Lots	0	2
123	Turnusingna i once station	DITEING (IV)	TOTOLE	30	36	CIS	30	23	730			Draw of		
130	Narayanpatna(Not on SH/NH).	KORAPUT	RURAL	75	ОВС	DC	30	25	750	12	30	Lots	5	3
100	Within 2 KM from Madhusudan	1.010 11 01		,,,	000				750		- 50	Draw of		
131	setu towards Kayalpada on LHS	CUTTACK	RURAL	120	OPEN	DC	30	25	750	12	30	Lots	5	4
	At Balara on Kakatpur to Astaranga											Draw of		
132	Road	PURI	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
133	Rayagada village (Not on NH/SH).	GAJAPATI	RURAL	75	ST	CFS	30	25	750	0	0	Lots	0	2
	Saharpada on Saharpada-Tando											Draw of		
134	road	KEONJHAR	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
	Within 2 KM from Baktarpur Chack													
	toward Rajnagar on LHS of											Draw of		
135	Patamundai-Rajnagar Road.	KENDRAPARA	RURAL	170	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
136	Rimuli on Rimuli-Ichinda Road	KEONJHAR	RURAL	60	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
	At Jiridamali in Kamakshyanagar													
	Tehsil on Jiridamali-kankadahada											Draw of		
137	Road (NOT ON NH)	DHENKANAL	RURAL	110	OBC	DC	30	25	750	12	30	Lots	5	3
	With 2 KM from Kalamatia post													
	Office towards Bari on Bari Jajpur											Draw of		
138	Highway	JAJPUR	RURAL	80	ST	CFS	30	25	750	0	0	Lots	0	2
	Bhelanga Mauza, From Bhimeswar											Draw of		
139	Temple to Bihari	JAJPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 1KM from Bitan Hata											Draw of		
140	towards Rambag on LHS	JAJPUR	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
	Gelapur to Bagalpur, Dist-											Draw of		
141	Jagatsighpur	JAGATSINGHPUR	RURAL	65	OBC	DC	30	25	750	12	30	Lots	5	3
l	Manijanga on Anakhia-Nanpur									_		Draw of	_	
142	Road	CUTTACK	RURAL	80	SC	CFS	30	25	750	0	0	Lots	0	2
	Kumana Manasa at Kanasa Barah											D		
142	Kusupur Mauza on Kuanpal Road	CUTTACK	DUDAL	00	ODEN	DC	20	25	750	12	20	Draw of	-	
143	(From Salepur to Balichandrapur)	CUTTACK	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
144	lari ta Singhaur an IIIS	IAIDUD	DLIDAL	110	OPEN	DC	30	25	750	12	20	Draw of	5	4
144	Jari to Singhpur on LHS	JAJPUR	RURAL	110	UPEN	DC	30	25	/50	12	30	Lots Draw of	5	4
145	Birinali	BOLANGIR	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
145	Biripali	DULANGIK	KUKAL	٥U	ORC	DC	30	25	/50	12	30	LUTS	3	3

	CICE training Control to Codicabi and			ı	1		1	ı	1		1	Draw of		
146	CISF training Centre to Godisahi on	CUTTACK	DUDAL	110	ODEN	DC	30	25	750	12	30		5	4
146	LHS of Cuttack-Banki road	CUTTACK	RURAL	110	OPEN	DC	30	25	750	12	30	Lots	5	4
	- 1 1 (2)				CT 00 1	050		25	750		•	Draw of		
147	Tarbod, (Not on NH).	NUAPARA	RURAL	70	ST CC 1	CFS	30	25	750	0	0	Lots	0	2
												Draw of	_	
148	Ramanaguda (Not on NH/SH).	RAYAGADA	RURAL	75	OPEN CC 2	DC	30	25	750	12	30	Lots	5	4
	Kenduapada railway crossing, at													
	Kenduapada Bazar to intersection											Draw of		
149	of Kenduapada Road with NH16.	BHADRAK	RURAL	95	OBC CC 1	DC	30	25	750	12	30	Lots	5	3
	Within 2 Km from Jatamudia on											Draw of		
150	Banki-Cuttack Road	CUTTACK	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
151	Sheragada (Not on NH /SH).	GANJAM	RURAL	75	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 2 KM From Olaver towards											Draw of		
152	Rajkanika on Rajkanika Road	KENDRAPARA	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Within 3 KM from Athagarh													
	Gopabandhu Scince College on											Draw of		
153	Athagarh-Mundali road LHS	CUTTACK	RURAL	180	OPEN	DC	30	25	750	12	30	Lots	5	4
	Sisua to Rajkanika on Rajkanika-											Draw of		
154	Jaynagar Road,LHS	KENDRAPARA	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	, .g,											Draw of		
155	Beguniapada to Delanga Hata	PURI	RURAL	100	ОВС	DC	30	25	750	12	30	Lots	5	3
	Gada khordha Jaganathtemple to	-										Draw of		
156	Powergrid pandiabili	KHORDHA	RURAL	60	SC	CFS	30	25	750	0	0	Lots	0	2
	Within 3 KM from Talchua Marine											Draw of	-	
157	Police Station.	KENDRAPARA	RURAL	190	OPEN	DC	30	25	750	12	30	Lots	5	4
107	Between Kathiapara Chack to	NETO TO TO TO	1101012	250	0.2		- 55		750		- 50	2010	-	<u> </u>
	kantabana chack on Babar											Draw of		
158	Kantabana road LHS	KENDRAPARA	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
130	Srimukundapur to sukal CHak on	KENDIONITHON	TOTULE	,,,	OI LIV		30	23	730	12	30	Draw of		
159	new jagannath sadak	PURI	RURAL	80	ОВС	DC	30	25	750	12	30	Lots	5	3
133	Basantapur chak to Delang station	1010	NONAL	- 00	OBC	DC	30	23	730	12	30	LOUS		
	bazar chak on Brahmagiri delang											Draw of		
160	road	PURI	RURAL	70	ST	CFS	30	25	750	0	0	Lots	0	2
100	Manapur grampanchayat to	PUNI	NUNAL	70	31	CF3	30	23	730	U	U	Draw of	U	
161	, , ,	CUTTACK	RURAL	70	OPEN	DC	30	25	750	12	30		5	4
101	Gadama Bazar (Not on SH-12)	CUTTACK	KUKAL	/0	UPEN	DC	30	23	/50	12	30	Lots Draw of	Э	4
162	Sukal to Khajuria on Delang	DUDI	DUDA	90	ODENI CC 1	DC	30	25	750	12	20	-	-	
162	Brahmagiri road	PURI	RURAL	80	OPEN CC 1	DC	30	25	/50	12	30	Lots	5	4
4.60	Within 2 kms from Kantabania chak	DUD	DUDA:	-00	000	D.C	20	25	750	42	20	Draw of	_	
163	towards Delang	PURI	RURAL	90	OBC	DC	30	25	750	12	30	Lots	5	3
166	Balakati to Balianta on bainchua	KILOBBILA	DUDA:	-00		CEC	20	25	750			Draw of		
164	road	KHORDHA	RURAL	90	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 5 km from Karabara towards		l		1							Draw of	_	_
165	Banki	CUTTACK	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
166	Within 5 km from Nemalo	CUTTACK	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4

	Athantar to Badalasasan on								1		1	Draw of		
167	nimapara road	KHORDHA	RURAL	55	OBC	DC	30	25	750	12	30	Lots	5	3
107	Illiliapara roau	KHUKDHA	NUNAL	33	OBC	DC	30	23	730	12	30	Draw of	3	3
168	Within 2 Km from Erakana	CUTTACK	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
100	Within 2 Kill Holli Liakalla	COTTACK	NONAL	70	OFLIN	DC	30	23	730	12	30	Draw of		
169	Balipatna to Nuagan	KHORDHA	RURAL	150	SC	CFS	30	25	750	0	0	Lots	0	2
103	Gopinathpur on Paga-Gopinathpur	KITOKDIIX	ROTULE	150	30	613	30	23	730			Draw of		
170	Road	CUTTACK	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
	Balakati to Balipatna on banmalipur	COTTACK			0. 2				750			Draw of	-	
171	road	KHORDHA	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Padmalavpur Mauza, on Anakhia-	-										Draw of		
172	Nanpur Road	JAJPUR	RURAL	120	OPEN	DC	30	25	750	12	30	Lots	5	4
	From Tangi Towards Kapilash on													
	Barapada road within 5 KM from											Draw of		
173	Tangi	CUTTACK	RURAL	140	SC PH	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
174	Within 2 KM of Raibari not on SH	JAGATSINGHPUR	RURAL	70	OBC PH	DC	30	25	750	12	30	Lots	5	3
	Banki to Tulasipur LHS, within 3 KM											Draw of		
175	From Tulasipur	CUTTACK	RURAL	140	OPEN	DC	30	25	750	12	30	Lots	5	4
	Near Bari From Milestone No-24 to													
	Milestone No-25 towards Tardipal											Draw of		
176	on Bari-Jajpur Highway (LHS)	JAJPUR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	Rangabazar to Bhingarpur via											Draw of		
177	brahmansarangi	KHORDHA	RURAL	100	OBC	DC	30	25	750	12	30	Lots	5	3
												Draw of		
178	chalanguda(Not on SH/NH).	MALKANGIRI	RURAL	60	ST	CFS	30	25	750	0	0	Lots	0	2
	Within 1 Km from Nathubar on											Draw of		
179	Nathubar-Adampur Road	JAJPUR	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	At Telisinga, on Telisinga-Kaniha											Draw of	_	_
180	Road, in Kaniha Block, not on NH	ANGUL	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
404	Within 1 km from Badaputa chak	NAVACABU	DUDAL	60	one	D.C	20	25	750	42	20	Draw of	-	_
181	towards Pancharida	NAYAGARH	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
102	Carrie desti/Nat as NUL/CUI	MALKANCIDI	DUDAL	60		CEC	20	25	750	0	0	Draw of	0	2
182	Govindpali(Not on NH/SH).	MALKANGIRI	RURAL	60	SC	CFS	30	25	750	0	0	Lots	0	2
	At Gadapalasuni, from Bapuji HS school to Badasahi UP school on											Draw of		
183		DHENKANAL	RURAL	70	OPEN	DC	30	25	750	12	30		5	4
183	gadapalasuni-telkui Road At Gaham village, within 2 km from	DHENKANAL	KUKAL	70	UPEN	DC	30	25	/50	12	30	Lots	5	4
	Gaham UP School towards Talcher													
	on RHS on Talcher-Khamar MDR											Draw of		
184	road	ANGUL	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
104	At Durgapurpansahi on	ANGUL	NUNAL	00	OPEN	DC	30	23	730	12	30	Draw of	3	4
185	Chhendipada - Jarapada road	ANGUL	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
103	Within 4kms From Dhamnagar	ANGOL	NONAL	50	OFEIN	DC	30	23	730	14	30	LOG	3	-
	Chakk on NH16,towards											Draw of		
186	Dhamnagar,on Dhamnagar road.	BHADRAK	RURAL	85	OBC	DC	30	25	750	12	30	Lots	5	3
100	Zammagar,on Dhammagar 10au.	אווייסוועוי	TOTAL	55	ODC	50	50	2.5	, 50		50	LUIS	,	, ,

	I			1	1 1			1			1	D		
187	Dumuriput(Not on NH/SH).	KORAPUT	RURAL	75	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
	within 5KM from Ranipentha Chakk (Intersection of SH4) towards											Draw of		
188	Gumma (not on SH/NH).	GAJAPATI	RURAL	85	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
												Draw of		
189	Gurabasa from Kirei to Bamra	SUNDERGARH	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
	At Nihal Prasad on Mandara-Nihal											Draw of		
190	Prasad Road in Dhenkanal district	DHENKANAL	RURAL	50	OPEN	DC	30	25	750	12	30	Lots	5	4
130	Frasau Roau III Diletikariai district	DITENNANAL	NONAL	30	OFLIN	DC	30	23	730	12	30	Draw of	,	- 4
191	LABANYAGADA	GAJAPATI	RURAL	60	SC	CFS	30	25	750	0	0	Lots	0	2
	Within 4 km from Bhapur Police													
	Station towards Shankarpur, on											Draw of		
192	Athgarh-Angul-Sambalpur Road	DHENKANAL	RURAL	100	OPEN	DC	30	25	750	12	30	Lots	5	4
	Within 5 km from Kosala on Kosala											Draw of		
193	to Kumunda Road(Not on SH)	ANGUL	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	At Tentoi, on Balaram Prasad-											Draw of		
194	Handidhua Road	ANGUL	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
	From Cuttack Madhusudan Setu to											Draw of	_	_
195	Kandarpa Chack(NH-55 Jn.)	CUTTACK	RURAL	160	OPEN	DC	30	25	750	12	30	Lots	5	4
100	Rajsunakhala chak to Lodhachua	NAVACABU	DUDAL	70	CT CC 4	CEC	20	25	750			Draw of		2
196	chak	NAYAGARH	RURAL	70	ST CC 1	CFS	30	25	750	0	0	Lots	0	2
107	Kalimati near Bambari Jerudy not	KEONIIIAB	DUDAL	70	000.004	DC	20	25	750	13	20	Draw of	-	2
197	on highway Odogaon bahadapitha chak to	KEONJHAR	RURAL	70	OBC CC 1	DC	30	25	750	12	30	Lots Draw of	5	3
198	Bahadajhola chak	NAYAGARH	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
198	Junei Bazaar Chak to Konark natya	NATAGARIT	KUKAL	90	OPEN	DC	30	25	730	12	30	Draw of	3	4
199	mandap chak	PURI	RURAL	100	OPEN PH	DC	30	25	750	12	30	Lots	5	4
133	папар спак	FORI	NONAL	100	OFLINFII	DC	30	23	730	12	30	Draw of	,	4
200	Deogaon (Not on SH/NH).	BOLANGIR	RURAL	80	ST	CFS	30	25	750	0	0	Lots	0	2
200	Beogaen (Net on Shiften).	DODATOIN	ROTULE	- 00	31	CIS	30	23	730	•		Draw of		
201	Pokahriapada	JAGATSINGHPUR	RURAL	66	OBC	DC	30	25	750	12	30	Lots	5	3
	Apsara cinema hall to Nuahata													
	police station on Charichak astarang											Draw of		
202	road LHS	PURI	RURAL	160	OPEN	DC	30	25	750	12	30	Lots	5	4
	Pattnaikia Bus Stop to Tolapada on											Draw of		
203	Delang road	PURI	RURAL	80	OBC	DC	30	25	750	12	30	Lots	5	3
	Pratap Prasad chak to Lathi pada											Draw of		
204	panchayat road	NAYAGARH	RURAL	100	ST	CFS	30	25	750	0	0	Lots	0	2
	at Nianmunha on Kaipadar to											Draw of		
205	dalatola road	KHORDHA	RURAL	80	OPEN	DC	30	25	750	12	30	Lots	5	4
	Chandaka chak to ASBM college on											Draw of		
206	LHS in Kujimahal	KHORDHA	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
207	At Astaranga on Kakatpur Road	PURI	RURAL	110	OPEN	DC	30	25	750	12	30	Lots	5	4

	Within 5kms from the intersection													
	on Soro-Bagudi Road towards											Draw of		
208	Santaragadia.	BALASORE	RURAL	59	OBC	DC	30	25	750	12	30	Lots	5	3
	KHUNTAMUNDA, on left hand side													
	from Bargaon towards Kutra on											Draw of		
209	SH10.	SUNDERGARH	REGULAR	110	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 4 KM from Manamunda													
	Chowk towards Boudh on NH 57													
210	(OLD NH 224)	BOUDH	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
	within 3 km from KADAMDIHI													
	chowk on NH 49 (old NH 200)										_	Draw of	_	_
211	either side	JHARSUGUDA	REGULAR	190	ST	CFS	35	45	1575	0	0	Lots	0	3
242	Within 2.5 kms from Dhanupalli	CANADALDUD	DECLUAR.	200	ODEN	66	25	25	4225	25	40	British .	20	
212	Chowk towards Dhama on SH 15 In between basaloi chowk to	SAMBALPUR	REGULAR	200	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	churiabahal on right hand side											Draw of		
213	towards barkote	DEOGARH	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
213	towards barkote	DEGGARIT	REGOLAR	100	OFEIN	DC	33	73	13/3	23	73	Draw of	- 13	
214	Within 4 KMs From Koira chowk tow	SUNDERGARH	REGULAR	162	OBC	DC	35	45	1575	25	75	Lots	15	4
	Sonepur town not on NH within											Draw of		
215	Municipal limits	SONEPUR	REGULAR	140	SC	CFS	20	20	400	0	0	Lots	0	3
	On Govindpali road b/w Kali mandir													
	chowk and Govindpali chowk,													
216	Bargarh town	BARGARH	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
												Draw of		
217	Within 2km from Saintala towards Bo	BOLANGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
												Draw of		
218	Within 2KM from Banamalipur towar	KALAHANDI	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	SUADA Tanai Tanah													
	SH 10 b/w Tarani Temple near											D of		
219	Bhushan Steel and L & T Toll Plaza on LHS from SBP to Bhushan Steel	SAMBALPUR	REGULAR	280	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
219	OII LEIS HOIII SEP LO BHUSHAII SLEEL	JAIVIBALFUR	REGULAR	200	OPEN	DC	33	33	1223	23	00	Draw of	13	3
220	Charichak to Delaganj on SH 23	BOUDH	REGULAR	130	ST	CFS	35	35	1225	0	0	Lots	0	3
	Charlettak to Belagarij en 311 23	ВООВП	INEGOE/ III	130	31	C13	33	33	1223			LOUS		
221	Nuapada, on NH 353 (Old NH-217)	NUAPARA	REGULAR	200	OBC	CC	20	20	400	25	10	Bidding	30	4
	VEER SURENDRA SAI MARG B/W	-												
	JAIL KHANA CHOWK AND ZILA													
	SCHOOL CHOWK WITHIN											Draw of		
222	SAMBALPUR MUNICIPALITY	SAMBALPUR	REGULAR	140	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
												Draw of		
223	In between roxy to narayanposhi on	SUNDERGARH	REGULAR	212	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2 KM from Boudh Bus Stand											Draw of		
224	on NH 57 (OLD NH 224)	BOUDH	REGULAR	150	SC	CFS	20	20	400	0	0	Lots	0	3
225	CENTRAL SCHOOL CHOWK TO SBI	CLINIDEDCARY	DECL!! A.	160	0.00	DC	20	20	400	25	4-	Draw of	4-	
225	CHOWK IN SUNDERGARH TOWN	SUNDERGARH	REGULAR	160	OBC	DC	20	20	400	25	45	Lots	15	4

	Within 2 kms from Huma Chowk				1							Draw of		
226	towards Dhama on SH-15	SAMBALPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 2KM from Baldhiamal													
	Chowk towards Nabarangpur on NH-											Draw of		
227	26 (Old-201)	KALAHANDI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
228	Karlapada,(On SH-16).	KALAHANDI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of	0	3
	On NH 49 (old NH 200), either side	KALAHANDI	REGULAR	130	31	CF3	33	33	1223	0	U	Lots	0	3
	between piplimal to shanimandir													
	chowk at junction of brajrajnagar											Draw of		
229	branch road	JHARSUGUDA	REGULAR	175	OBC	DC	35	45	1575	25	75	Lots	15	4
230	NH 53 (OLD NH 6) B/W KM POST 63	BARGARH	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	, , , , , , , , , , , , , , , , , , , ,													
	BADA BAZAR ROAD B/W AGRASEN													
	CHOWK AND INTERSECTION OF											Draw of		
231	BADA BAZAR ROAD AND SAMLESWARI TEMPLE RD	SAMBALPUR	REGULAR	140	OPEN CC 2	DC	20	20	400	25	45	Lots	15	5
	Within 2KM from Maplada Primary													
	School towards Titlagarh on NH-59											Draw of		
232	(old NH-217).	BOLANGIR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Lots	15	4
	Kantabanjhi (Between Chaitanya Chowk to Tahsil Office Chowk, not											Draw of		
233	on SH/NH).	BOLANGIR	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Lots	0	3
	Within 3KM from Belgaon towards											Draw of		_
234	Bolangir on NH-26 (Old NH-201). In between Madhusudan chowk to	BOLANGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	bisra chowk within rourkela											Draw of		
235	municipal limit	SUNDERGARH	REGULAR	200	OPEN	DC	20	20	400	25	60	Lots	15	5
	In SAMANTARAPALI ON RANCHI-											Draw of		
236	VIJAYWADA CORRIDOR.	DEOGARH	REGULAR	180	OBC	DC	35	35	1225	25	60	Lots	15	4
	MOTIJHARAN ROAD B/W													
	BHUTAPARA CHOWK AND													
	DHANKAUDA GOVT HOSPITAL											Draw of		
237	WITHIN SAMBALPUR MUNICIPALITY	SAMBALPUR	REGULAR	140	ST	CFS	20	20	400	0	0	Lots	0	3
	Bhawanipatna,(Between													
	Ghodaghat chowk and Manikeswari													
238	Chowk, not on NH/SH).	KALAHANDI	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Within 2 KM FROM DHARAMPUR													
220	CHOWK TOWARDS DEOGARH ON	DEOCARL	DECLUAR.	160	ODEN	D.C	25	45	1575	25	75	Draw of	45	-
239	LHS ON NH-53	DEOGARH	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2KM from Bairasar towards											Draw of		
240	Bolangir on NH-57 (Old NH-224)	BOLANGIR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4

	Т		-		1			1			ı	1		ı
	B/W Raghunathpally police station													
	over bridge TO BSNL CHOWK within											Draw of		
241	Rourkela municipal limit.	SUNDERGARH	REGULAR	170	OPEN	DC	20	20	400	25	60	Lots	15	5
241	FARM ROAD B/W DRM OFFICE	JUNDERGARII	REGULAR	170	OPEN	DC	20	20	400	23	00	LUIS	13	3
	SAMBALPUR AND MODIPARA													
	CHOWK WITHIN SAMBALPUR											Draw of		
242	MUNICIPALITY	SAMBALPUR	REGULAR	140	SC	CFS	20	20	400	0	0	Lots	0	3
	NH 53 (OLD NH 6) B/W REMED	SAIVIDALFOR	REGULAN	140	30	CIS	20	20	400	0	0	LUIS	0	3
	CHOWK TO DURGAPALI CHOWK ON													
	LHS WHILE MOVING FROM											Draw of		
	SAMBALPUR TO BURLA	SAMBALPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
245	BUDHARAJA ROAD B/W ODIA	SAMBALI ON	REGOLAR	100	OFER	DC	33	73	13/3	23	73	LOUS	13	
	BAPTIST CHURCH AND AINTHAPALI													
	SQUARE WITHIN SAMBALPUR											Draw of		
244	MUNICIPALITY	SAMBALPUR	REGULAR	140	ОВС	DC	20	20	400	25	45	Lots	15	4
	NH 53 (OLD NH 6) B/W KM POST 15	SAMBALI ON	REGOLAR	140	OBC	DC	20	20	400	23	43	LOUS	13	_
	TO 20 ON RHS WHILE MOVING											Draw of		
245	FROM SAMBALPUR TO BARGARH	SAMBALPUR	REGULAR	170	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
	NH 55 (OLD NH 42) B/W KM POST 8													
	TO 15 ON RHS WHILE MOVING											Draw of		
246	FROM SAMBALPUR TO RAIRAKHOL	SAMBALPUR	REGULAR	155	ST	CFS	35	45	1575	0	0	Lots	0	3
	NH 55 (OLD NH 42) B/W KM POST													
	20 TO 25 ON RHS WHILE MOVING											Draw of		
247	FROM SAMBALPUR TO JUJUMARA	SAMBALPUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Lots	15	4
,	Within 5 KMs from BUXI Chowk													
1	towards Gandhi Chowk on NH-49 (Draw of		
248	old NH 200)	JHARSUGUDA	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 3 KMs from BUXI Chowk on											Draw of		
249	RHS towards Sambalpur on SH-10.	JHARSUGUDA	REGULAR	170	OPEN	DC	35	35	1225	25	60	Lots	15	5
	NH 55 (OLD NH 42) B/W KM POST													
	20 TO 25 ON LHS WHILE MOVING											Draw of		
250	FROM SAMBALPUR TO JUJUMARA	SAMBALPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
												Draw of		
251	Tarbod (On NH-353) (Old NH-217)).	NUAPARA	REGULAR	150	SC	CFS	35	45	1575	0	0	Lots	0	3
T	Within 2KM from Chandotora													
	Chowk towards Bhawanipatna on											Draw of		
252	SH-16	BOLANGIR	REGULAR	140	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 2 km from Hirakud railway													
	station towards Goshala on NH 53													
253	(OLD NH 6)on RHS	SAMBALPUR	REGULAR	200	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Within 2KM from Baldhiamal													
254	Chowk towards Dharmagarh on NH											Draw of		
	130C.	KALAHANDI	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4

Within 6km from Telighana , on left hand side towards bargaon on SH 255 10. SUNDERGARH REGULAR 110 ST CFS 35 35 1225 0 Within 2 KM from Jharsuguda railway Junction towards sarbahal	0	Draw of		
255 10. SUNDERGARH REGULAR 110 ST CFS 35 35 1225 0	0	Diaw oi		
Within 2 KM from Jharsuguda	U	Lots	0	3
		LOIS	U	3
		Draw of		
256 in Jharsuguda Municipal limit. JHARSUGUDA REGULAR 210 OPEN DC 20 20 400 25	45	Lots	15	5
230 iii Jilaisuguda ivitulicijariiiiit. Jihansuguda kegutak 210 OPEN DC 20 20 400 23	43	LUIS	13	3
Within 4 KM from sawmill chowk on		Draw of		
257 LHS towards rajgangpur on SH10. SUNDERGARH REGULAR 110 OPEN DC 35 35 1225 25	60	Lots	15	5
237 End towards rajgangpur on Shite. Sometanni Regulari 110 OPEN DC 53 53 1223 23	00	LUIS	13	3
On Sakhipada Main Road b/w Govt				
Library and Saint Joseph Church				
258 within sambalpur municipality SAMBALPUR REGULAR 200 OBC PH CC 20 20 400 25	10	Bidding	30	4
FROM KATARBAGA CHOWK TO	10	ышинд	30	4
JAMGAON STATION CHOWK ON NH-		Draw of		
259 49 (old NH -200) JHARSUGUDA REGULAR 165 ST PH CFS 35 45 1575 0	0	Lots	0	3
239 49 (010 NR -200) JRANSUGUDA REGULAK 105 51 PR CF5 55 45 15/5 0	U	LOIS	U	3
within 3 km from Lamloi towards		Draw of		
260 sundergarh on LHS on Sh-10 SUNDERGARH REGULAR 150 OPEN DC 35 35 1225 25	60	Lots	15	5
Within 2 kms from Manamunda -	- 00	LOUS	13	
Gandhi chowk towards Kantamal on		Draw of		
261	60	Lots	15	5
201 SH41 BOOM REGORN 115 OF EN BE 55 35 1225 25	- 00	Draw of	13	
262 Saintala, on NH-26 (old NH-201). BOLANGIR REGULAR 150 OBC DC 35 45 1575 25	75	Lots	15	4
On Municipility road ,Belpahar				
Municipality office to Belpahar		Draw of		
263 railway crossing (fatak) JHARSUGUDA REGULAR 190 OPEN DC 20 20 400 25	45	Lots	15	5
NH 57 (OLD NH 224) b/w Baunsuni		Draw of		
264 Sub Post office to Govt. ITI Boudh BOUDH REGULAR 150 SC CFS 35 45 1575 0	0	Lots	0	3
265 Nabarangpur Town. NABARANGPUR REGULAR 200 OPEN CC 20 20 400 25	10	Bidding	30	5
Sonepur Bus Stand to Manamunda		Draw of		
266 Bridge SONEPUR REGULAR 110 OBC DC 30 25 750 25	45	Lots	15	4
Bhawanipatna (Within 2Km from				
Govt. Autonomous College Chowk				
267 towards Kesinga) KALAHANDI REGULAR 200 OPEN CC 20 20 400 25	10	Bidding	30	5
Within 4KM from Charbahal				
towards Moter on NH-26(old NH-		Draw of		
268 201 KALAHANDI REGULAR 150 ST CFS 20 20 400 0	0	Lots	0	3
Within 3 km from sindurpank		Draw of		
269 chowk on NH-53 (OLD NH 6) SAMBALPUR REGULAR 160 OBC DC 35 45 1575 25	75	Lots	15	4
NH-57 (OLD NH 224), between	1			
Biranarsinghpur primary school to		Draw of		
270 Nuapara High school BOUDH REGULAR 150 OPEN DC 35 45 1575 25	75	Lots	15	5
Within 2 km from Janhapank Chowk				
towards Boudh on NH 57 (OLD NH		Draw of		
271 224) BOUDH REGULAR 155 OPEN CC 1 DC 35 45 1575 25	75	Lots	15	5

	1		1		1		1	1	1	1	1			1
	Within 4KM From Nuapada towards											Draw of		
272	Padampur on Biju Expressway.	NUAPARA	REGULAR	160	OBC	DC	35	35	1225	25	60	Lots	15	4
2/2	radampui on Biju Expressway.	NUAPARA	REGULAR	100	OBC	DC	33	33	1223	23	00	LUIS	13	4
	Within 3KM from Saipala towards											Draw of		
273	Nuapada on Biju Expressway.	NUAPARA	REGULAR	120	ST	CFS	35	35	1225	0	0	Lots	0	3
2/3	Within 2KM from Dharmagarh Char	NUAPARA	REGULAR	120	31	CF3	33	33	1223	U	U	LUIS	0	3
	Chowk towards Tarapur (not on													
274	SH/NH).	KALAHANDI	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
2/4	KUDALOI ON NH- 49 FROM BANJARI	KALAHANDI	REGOLAR	200	OLLIV		20	20	400	23	10	Didding	30	
	CHOWK TO KUDALOI PANCHAYAT													
	OFFICE ON EITHER SIDE. (Old NH-											Draw of		
275	200)	JHARSUGUDA	REGULAR	175	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2KM from Papadahandi	31111110000071		2,0	0. 2				1373		,,,	2010		
	chowk towards Midalpur on NH-26											Draw of		
276	(old NH-201)	NABARANGPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	In Gouduniposh, on LAHUNIPARA													
	TO KALTA ROAD NH-520 (old NH											Draw of		
277	215).	SUNDERGARH	REGULAR	175	SC	CFS	35	45	1575	0	0	Lots	0	3
	Within 4KM from Jatabal towards											Draw of		
278	Umerkote on SH-39.	NABARANGPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 2KM from Umerkote Bus													
279	Stand towards Dabugaon on SH-39	NABARANGPUR	REGULAR	200	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	SH 10 B/W Pandloi village junction													
	and Viraj Steel on RHS while moving													
280	from SBP to viraj steel	SAMBALPUR	REGULAR	320	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Within 1.5 KM from BRAHMANI													
	BRIDGE towards vedvyas chowk on													
281	NH-143.	SUNDERGARH	REGULAR	203	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
	Within 2KM from Midalpur Chowk													
	towards Bhawanipatna on NH-26											Draw of		
282	(old NH-201)	NABARANGPUR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Lots	0	3
	NH 26 (OLD NH 201) b/w Ekamara													
283	Chowk and Ambapali Chowk	BARGARH	REGULAR	200	OPEN PH	CC	35	45	1575	25	10	Bidding	30	5
	Within 2KMs from PP College,													
	Bhalumunda towards Rajkhariar on											Draw of		
284	NH-59 (old NH-217).	NUAPARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	Within 2KM from Pragati College											D		
205	towards Bhawanipatna on NH-26	KALAHAND!	DECLUAR.	160	ODEN	DC	25	45	1575	25	75	Draw of	15	_
285	(old NH-201)	KALAHANDI	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Bhawanipatna (Within 4KM from											Draw of		
286	Jail Chowk towards Hill town)	KALAHANDI	REGULAR	150	ST	CFS	35	35	1225	0	0		0	3
280	Jaii Chowk towards Hill (OWN)	KALAHANDI	REGULAR	150	31	CF3	35	35	1225	U	U	Lots	U	3

	Within 1KM from Milestone No													
	23(Bolangir-23KM)on SH-42 towards Chudapali on RHS(Bol-											Draw of		
287	Patnagarh Rd).	BOLANGIR	REGULAR	140	OPEN	DC	35	35	1225	25	60	Lots	15	5
	, , , , , , , , , , , , , , , , , , ,											Draw of		
288	Ampani On NH -26 (old NH-201)	KALAHANDI	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	within 2.5 Km from Dhanupally Chowk on NH 55 (OLD NH42)											Draw of		
289	towards Maneswar	SAMBALPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2KM from Milestone No-													
	65(Loisingha-7KM)from Bolangir													
290	towards Loisingha on LHS on NH-26 (Old NH-201)	BOLANGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
290	Within 2KM From Amath Chowk	BOLANGIK	REGULAR	150	OPEN	DC	33	45	15/5	25	/5	LOIS	15	3
	towards M Rampur on NH-59(Old											Draw of		
291	NH-217).	KALAHANDI	REGULAR	150	SC	CFS	35	45	1575	0	0	Lots	0	3
	Within 5KM From Amath Chowk towards Kesinga on NH-26 (old NH-											Draw of		
292	201).	KALAHANDI	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	,													
	Within 3 KM from Haldipali Chowk													
293	on NH 53 (OLD NH 6) on LHS while moving from bargarh to sohella	BARGARH	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
293	within 4KM From Belgaon chowk	BANGANT	REGULAR	200	OFLIN		33	43	1373	23	10	bluuling	30	,
	towards Titlagarh on NH-59 (Old NH-											Draw of		
294	217)	BOLANGIR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
295	Pokharibandh, (On SH-6)	KALAHANDI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 4KM from patnagarh Town													
205	Bus Stand towards Kantabanjhi on	50, 11,0,5		450	000		0.5	25	4005	0.5		Draw of		_
296	SH-42.	BOLANGIR	REGULAR	150	OBC	DC	35	35	1225	25	60	Lots	15	4
	Within 1 km from Diptipur Chowk											Draw of		
297	towards Padampur on RHS	BARGARH	REGULAR	130	OPEN	DC	35	35	1225	25	60	Lots	15	5
298	KUDALOI ON NH-49, On left hand side towards raigarh. (old NH-200)	JHARSUGUDA	REGULAR	168	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
236	side towards raigarn. (old ivii-200)	JIIANSOGODA	REGULAR	100	OFLIN	ВС	33	43	1373	23	73	LOUS	15	,
	Bhawanipatna,(Within 3KM from													
200	Govt. Autonomous College chowk		DEC	4-0	050	D.0	2-		4225	2-	60	Draw of	4-	_
299	towards Dongergarh on SH-6.) Within 5 KM from brahmani river	KALAHANDI	REGULAR	150	OBC	DC	35	35	1225	25	60	Lots	15	4
	bridge near Bonai , towards barkote											Draw of		
300	on NH-143.	SUNDERGARH	REGULAR	180	ST	CFS	35	45	1575	0	0	Lots	0	3
	Militain 4 I/A4 frame Doubleman's direct								1			D		
301	Within 1 KM from Barihapali chowk on SH 3 towards Padampur on RHS	BARGARH	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
301	on on o towards radampar on Kilo	DANGAMII	MEGGEAIN	120	OI LIV	DC	33	55	1223	23	00	LUIS	10	,

	112. 2 E L				1	1		1			1	1		
	within 2.5 km on right hand side													
	from bargaon towards karamdidhi											Draw of		
302	on SH10	SUNDERGARH	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Sundargarh Town within municipal											Draw of		
303	limit	SUNDERGARH	REGULAR	160	OBC	DC	20	20	400	25	45	Lots	15	4
	Between Darjing to Rajamunda on											Draw of		
304	NH-143	SUNDERGARH	REGULAR	160	SC	CFS	35	45	1575	0	0	Lots	0	3
	Bolangir (Within 2KM from													
	Collectorate Chowk towards													
305	Patnagarh)	BOLANGIR	REGULAR	200	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Within 2 KM from Burda Towards													
	Loisingha on LHS on NH-26(Old NH-											Draw of		
306	201).	BOLANGIR	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
	,											Draw of		
307	Bhikampali on NH 49 (old NH -200).	JHARSUGUDA	REGULAR	170	OBC	DC	35	45	1575	25	75	Lots	15	4
	NH 55(OLD NH42) Between											Draw of		
308	milestones no. 16 and 19	SAMBALPUR	REGULAR	155	ST	CFS	35	45	1575	0	0	Lots	0	3
- 500	WITHIN 5km from rengalbeda	57 1171 57 121 611	1120027111	100	0.	0.0			2575			2013		
	chowk towards Barbil on NH-520 (Draw of		
309	old NH 215)	SUNDERGARH	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5
303	Within 6KM from Papadhandi	JONDENGARIT	REGOLAN	210	OFER	DC	33	73	1373		73	2013	- 13	
	towards Nabarangpur on NH-26											Draw of		
310		NADADANCDUD	DECLUAD	150	ODC	DC	35	45	1575	25	75		15	4
310	(Old NH-201).	NABARANGPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
244	C. NIII. had a said a said to Khina.	CUNDERCARU	DECLUAD.	4.65	ODEN	D.C	25	4-	4575	25	7-	Draw of	45	_
311	On NH , between lamshi to K.blang	SUNDERGARH	REGULAR	165	OPEN	DC	35	45	1575	25	75	Lots	15	5
	WITHIN 3 KM FROM MAHANADI													
	COAL FIELD LTD RES.GATE ON NH													
	53 (OLD NH 6) ON LHS WHILE													
	MOVING FROM BARGARH TO											Draw of		
312	SAMBALPUR	BARGARH	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2KM from Pastikudi chowk													
	towards Kesinga on NH-26 (Old NH-											Draw of		
313	201).	KALAHANDI	REGULAR	150	SC	CFS	35	45	1575	0	0	Lots	0	3
	Within 2KM from Deogaon Bus													
	Stand towards BOLANGIR on NH-26											Draw of		
314	(Old NH-201).	BOLANGIR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	WITHIN 1 KM FROM ST. JOSEPH													
	HIGH SCHOOL ON SAKHIPADA MAIN											Draw of		
315	ROAD,SAMBALPUR	SAMBALPUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Lots	15	5
	NH 53 (OLD NH 6)B/W KM POST 66										1.2			
	TO 68 ON LHS WHILE MOVING											Draw of		
316	FROM SOHELA TO BARGARH.	BARGARH	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
310	Within 5 KMs from Biju Patnaik	DANGAMI	MEGGLAN	1/0	OFLIV	DC	33	7.5	13/3	23	,,,	LOGS	13	,
	Chowk towards Sambalpur on LHS											Draw of		
317	'	JHARSUGUDA	REGULAR	160	ST	CFS	35	35	1225	0	0	Lots	0	3
31/	on SH-10. Within 2 KMs from Biju Patnaik	JUNDOGONA	NEGULAK	100	31	CFS	55	33	1225	U	U	LUIS	U	3
	•											D		
246	Chowk towards Baxi Chowk on RHS	III A DCI I CI I C	DECLUAS.	460	one	D.C	25	25	4225	25		Draw of	45	
318	on SH-10.	JHARSUGUDA	REGULAR	160	OBC	DC	35	35	1225	25	60	Lots	15	4

	Within 2KM from Naktiguda-Circuit								1					
	House chowk towards Junagarh on													
319	NH-26(Old NH-201)	KALAHANDI	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Within 2 KMs from BUXI Chowk													
	towards Sambalpur on LHS on SH-											Draw of		
320	10.	JHARSUGUDA	REGULAR	190	OPEN CC 1	DC	35	35	1225	25	60	Lots	15	5
224	Within 3 KM from Ranibandh	CHNDEDCARH	DECLUAD	165	ODC	DC	20	20	400	25	45	Draw of	45	
321	Chowk towards OCL Gate Within 4KM From MV88 towards	SUNDERGARH	REGULAR	165	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
322	Motu on NH326.	MALKANGIRI	REGULAR	155	ST	CFS	35	45	1575	0	0	Lots	0	3
322	Bombay Chowk (Jharpokharia) to	W COUNTY	TLEGOLD III	133	3.	CIS	33	73	1373	Ü		Draw of		J
323	Bangriposi on RHS on NH 49	MAYURBHANJ	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Rugudihi police station to guali seva													
324	ashram on NH-520 RHS	KEONJHAR	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Palaspanga to Bankamaruni on NH													
	20 (old NH 215)LHS towards	_												
325	Keonjhar From Balimela Chowk to IMST	KEONJHAR	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
	English Medium High School on											Draw of		
326	Balimela Raod.	MALKANGIRI	REGULAR	125	SC	CFS	20	20	400	0	0	Lots	0	3
520	Kalabadia To Bombay chowk on		112002	120		0.0			.00			Draw of		
327	RHS on NH 18.	MAYURBHANJ	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Hathbadhra to Jholdungri													
	Chakk(Badampahar Chakk) on											Draw of		
328	NH220 on LHS	MAYURBHANJ	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots	15	5
220	From Zero point laxamipur to ZMFC	KODADUT	DECLUAD	160	OBC	DC	35	45	1575	25	75	Draw of	15	4
329	court on NH326. Within 3 kms from B-plot on Joda-	KORAPUT	REGULAR	160	OBC	DC	35	45	1575	25	/5	Lots Draw of	15	4
330	palaspanga road	KEONJHAR	REGULAR	297	OPEN	DC	35	35	1225	25	60	Lots	15	5
	paraspariga read	112010111111	112002		0.2		- 55		1223			Draw of		
331	Banapur within NAC Not on SH/NH	KHORDHA	REGULAR	100	ST CC 1	CFS	20	20	400	0	0	Lots	0	3
	Within 6 km of Suakati chowk											Draw of		
332	towards Keonjhar on NH-49 on LHS	KEONJHAR	REGULAR	170	OPEN CC 2	DC	35	45	1575	25	75	Lots	15	5
	Balugaon Bypass on NH 16 from													
333	Nuagada chak to baradihi chak on LHS	KHORDHA	REGULAR	210	OBC CC 1	СС	35	45	1575	25	10	Bidding	30	4
333	Dantiamuha to Baisinga on NH18	KHOKDHA	REGULAR	210	OBC CC 1	CC	33	43	1373	23	10	Draw of	30	4
334	on LHS towards balasore	MAYURBHANJ	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Khurda bypass to kuradhamalla on			-		-						Draw of		
335	 NH-16	KHORDHA	REGULAR	260	ST	CFS	35	45	1575	0	0	Lots	0	3
	From Nh149 Junction Pallahara to													
226	office of Revenue Inspector Kantola,	ANGUI	DECLII AD	150	ODC	DC	25	45	1575	25	75	Draw of	45	
336	on NH 49 in Angul district Khordha new bus stand to	ANGUL	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
337	municipality chak on LHS	KHORDHA	REGULAR	210	OPEN	CC	20	20	400	25	10	Bidding	30	5
557	mamorpancy char on End	KIIONDIIA	WESSEAN	210	OI LIV		20		700	23		Didding	50	,

	Character and Ch		1 1		1 1			1			1	D (
220	Champua on Gaudasahi road,not on	KEONILLAD	DECLUAD.	100	ODEN	D.C	20	20	400	25	45	Draw of	45	۔ ا
338	NH/SH,within NAC limits	KEONJHAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
														l
	Within 4 kms from Boinda NH55											Draw of		l
339	Junction towards Athmalik on SH 62	ANGUL	REGULAR	120	OBC	DC	35	35	1225	25	60	Lots	15	4
	From Keshpur market to Dimbiriya													l
	Chowk towards Berhampur on											Draw of		l
340	NH16(ON LHS).	GANJAM	REGULAR	250	SC	CFS	35	45	1575	0	0	Lots	0	3
	Anandapur on SH53 within											Draw of		
341	municipality limits.	KEONJHAR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Lots	15	5
	College road, within Keonjhar											Draw of		
342	Municipality	KEONJHAR	REGULAR	125	OPEN	DC	20	20	400	25	45	Lots	15	5
	Within 5 km from Pitri Chowk													
	towards Khamar on NH 149 in											Draw of		l
343	Dhenkanal District	DHENKANAL	REGULAR	150	ОВС	DC	35	45	1575	25	75	Lots	15	4
0.0	Kurdhamalla to Rameswar chak LHS	5112111011712	1120027111	130	- 555				2373			Draw of		· ·
344	on NH -16	KHORDHA	REGULAR	310	ST	CFS	35	45	1575	0	0	Lots	0	3
344	Between Chadeibol & Singda Chakk	KHOKDHA	REGOLAR	310	31	CIS	33	73	1373	- 0		LOUS	0	
	towards Jashipur on LHS on NH-49											Draw of		l
345	in Mayurbhanj distt.	MAYURBHANJ	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
343		MATURBHANI	REGULAR	130	OPEN	DC	33	43	13/3	23	73		13	3
246	Bombay chowk to Bangriposi on	A 4 A VI I D D I I A A I I	DECLUAD.	160	ODEN CC 4	D.C	25	45	4575	25	75	Draw of	45	
346	LHS on NH49	MAYURBHANJ	REGULAR	160	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
	Bhadrasahi square to Brahmani													l
	River Pellets Ltd on NH 520(old		_									Draw of		l
347	NH215)	KEONJHAR	REGULAR	166	OBC	DC	35	45	1575	25	75	Lots	15	4
												Draw of		l
348	Anlakuda on SH-19	MAYURBHANJ	REGULAR	100	ST	CFS	35	35	1225	0	0	Lots	0	3
	Balasore to Baisinga ,LHS on NH18											Draw of		l
349	in Balasore District	BALASORE	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
														l
	Town hall chakk to Darji Pokhari											Draw of		l
350	Chakk, on Lal Bahadur Shastri Marg	BALASORE	REGULAR	105	OPEN	DC	20	20	400	25	45	Lots	15	5
	Simlipal Tiger Reserve head office													l
	(Bhanjpur Chakk) to Murgabadi											Draw of		l
351	Golai within Baripada municipality	MAYURBHANJ	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 2 kms of Khaira College, on	-										Draw of		
352	Soro Kupari Road.	BALASORE	REGULAR	105	OPEN	DC	35	35	1225	25	60	Lots	15	5
					1									
	Within 5 kms of Kamarda Chhakk,											Draw of		l
353	on SH 57, towards Jaleswar	BALASORE	REGULAR	110	SC	CFS	35	35	1225	0	0	Lots	0	3
333	From Jyothi Convent School,on	<i>D</i> , (2, 150) (2		110	1 30	0.5	33	- 55	1223	,	_ <u> </u>	2003		
	NH16 to Baitarani River Bridge on													l
354	NH16 to Baltaralli River Bridge off	BHADRAK	REGULAR	260	OPEN	CC	35	45	1575	25	10	Bidding	30	5
334	Sri Sri University to Naraj Barrage	DITADIAN	NEGOLAK	200	OPEN		33	43	13/3	23	10	Draw of	30	<u> </u>
25.5	, , ,	CHTTACK	REGULAR	150	OBC	DC	20	20	400	25	60		15	4
355	on Naraj road	CUTTACK	REGULAR	150	ORC	DC	20	20	400	25	60	Lots	15	4
25.0	Pirahat bazar post office to Motto	DUADDAK	DECLUAD	125	ODEN	DC	25	25	1225	25		Draw of	45	l -
356	Hospital on SH9	BHADRAK	REGULAR	125	OPEN	DC	35	35	1225	25	60	Lots	15	5

	l - 51 111. I		1 1		1 1			ı			1			
	From Balram nagar chhak to													
	Gunpur police station on Medical											Draw of		
357	road.	RAYAGADA	REGULAR	115	SC PH	CFS	20	20	400	0	0	Lots	0	3
	Jagannath temple to Ambika													
	temple,Bada bazaar(on road via													
	Baripada Town PS) within municipal											Draw of		
358	limits	MAYURBHANJ	REGULAR	110	OBC PH	DC	20	20	400	25	45	Lots	15	4
	Nilagiri, on Bypass road (not on SH),											Draw of		
359	within Municipal limits	BALASORE	REGULAR	115	OPEN	DC	20	20	400	25	45	Lots	15	5
	Trinath bazar chak in Daspalla to													
	Similisahi chak on SH 37 towards											Draw of		
360	bhanjanagar	NAYAGARH	REGULAR	140	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Labanya Chowk to Govindpur on													
	Mining road within Keonjhar											Draw of		
361	municipality	KEONJHAR	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
301	municipality	REOMITIAN	REGULAR	110	OBC	DC	20	20	400	23	43	Draw of	13	4
362	CRP chak to Ekamra kanan	KHORDHA	REGULAR	200	ST	CFS	20	20	400	0	0	Lots	0	3
302	CRF Cliar to Examina Raman	KHUKUHA	REGULAR	200	31	CF3	20	20	400	U	U	LUIS	U	3
	From new mango market towards													
	<u> </u>											D af		
262	Andhpasara Road upto	CANHANA	DECLUAR.	4.40	ODEN	D.C	20	20	400	25	45	Draw of	45	_
363	Gosaninuagaon Road intersection.	GANJAM	REGULAR	140	OPEN	DC	20	20	400	25	45	Lots	15	5
	At Semliguda-From Dhan Ragini													
	temple to post office Semiliguda on											Draw of		
364	NH26.	KORAPUT	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Rameswar chak to Badapokharia													
365	LHS on NH-16	KHORDHA	REGULAR	250	OBC	CC	35	45	1575	25	10	Bidding	30	4
	10 km from MV79 towards Kalimela											Draw of		
366	on NH326 on LHS.	MALKANGIRI	REGULAR	200	SC	CFS	35	45	1575	0	0	Lots	0	3
	Within 1KM From Amlabhata													
	Junction towards Muniguda Road											Draw of		
367	on SH5-(LHS)	RAYAGADA	REGULAR	174	OPEN	DC	35	35	1225	25	60	Lots	15	5
	3KM from municipal Check gate													
	towards Muniguda on NH326(ON											Draw of		
368	RHS).	RAYAGADA	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots	15	5
	From Nalco Chhakk to Padapadar											Draw of		
369	on NH26.	KORAPUT	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Athagarh to Karikol within Athagarh											Draw of		
370	NAC limit	CUTTACK	REGULAR	100	OBC	DC	20	20	400	25	45	Lots	15	4
<u> </u>	Netaji Subash Chandra Bose Setu to										1			
	National Law College on Cuttack-											Draw of		
371	Athagarh Road	CUTTACK	REGULAR	180	ST	CFS	20	20	400	0	0	Lots	0	3
3/1	Oleipada to Kharashua Bridge on	COTTACK	VEGOTAL	100	J1	Ci J	20	20	700	J	- 	LUIS	J	,
	Jajpur Kuakhia road on LHS of NH-											Draw of		
372	20	JAJPUR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
3/2	20	JAJFUN	REGULAR	130	OPEN CC 1	DC	33	43	13/3	23	/3	LUIS	13	3
	From PTC Chhak Angul to Govt.													
	_											Drawet		
272	Autonomus College Angul within	ANICHH	DECL!! A.S.	100	000	DC	20	20	400	25	45	Draw of	1-	
373	Municipal Limits (not on NH/SH)	ANGUL	REGULAR	100	OBC	DC	20	20	400	25	45	Lots	15	4

	T T		1 1		1						1			ı
	Mishin CKM France Basinsona Chalds											D of		
274	Within 6KM From Boriguma Chakk	KODADUT	DECLUAD	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	_
374	towards Nabarangpur on NH26.	KORAPUT	REGULAR	155	OPEN	DC	33	45	1575	25	75	Draw of	15	5
375	Aiginia square to dumuduma	KHORDHA	REGULAR	220	SC	CFS	20	20	400	0	0	Lots	0	3
3/3	3KM From Potangi tahsil office	KHUKUHA	REGULAR	220	30	CF3	20	20	400	U	U	Draw of	U	3
376	•	KORAPUT	REGULAR	175	OPEN	DC	35	45	1575	25	75	Lots	15	5
3/0	towards sunki on NH26.	KURAPUT	REGULAR	1/3	OPEN	DC	33	45	15/5	25	/5	LOIS	15	3
	From Madikunda Chhaka to													
	Kandupadra intersection on Nandi											Draw of		
377	khandi sahi Road(not on SH/NH)	KANDHAMAL	REGULAR	104	OBC	DC	20	20	400	25	45	Lots	15	4
3//	Kilandi sani Koad(not on Sh) Nih	KANDHAMAL	REGULAN	104	OBC	DC	20	20	400	23	43	LOUS	13	4
	5KM From Kakriguma Police station											Draw of		
378	towards Koraput on NH326.	KORAPUT	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
370	From jatni gate to pitapalli chak on	KOKALOT	REGOLAR	100	OLEN	DC	33	73	1373	23	,,,	Draw of	13	
379	NH-16	KHORDHA	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
3,3	From Sunakhala to chandeswar LHS	KITOKOTIV	TILOOL/III	200	OI EIV	- DC	33	73	1373	23	,,,	Draw of	13	
380	on NH - 16	KHORDHA	REGULAR	160	ST CC 1	CFS	35	45	1575	0	0	Lots	0	3
	High Court Odisha to Khannagar on		1									Draw of	-	
381	Ring Road	CUTTACK	REGULAR	220	OBC CC 1	DC	20	20	400	25	60	Lots	15	4
	Odogaon bahadapitha chak to		1									Draw of		
382	komand on SH-21	NAYAGARH	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots	15	5
	1KM from Canara Bank Ganjam													
	Branch on Sana Bazar Road within											Draw of		
383	NAC Limit(Not ON NH/SH).	GANJAM	REGULAR	110	OPEN PH	DC	20	20	400	25	45	Lots	15	5
	Khandagiri chak to Jatni gate on NH											Draw of		
384	16	NAYAGARH	REGULAR	310	ST	CFS	35	45	1575	0	0	Lots	0	3
	Kavisuryanagar Within NAC											Draw of		
385	Limit(Not on SH/NH).	GANJAM	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Haldiapadar over													
	bridge(Intersection of NH16) to													
	Gapalpur Junction towards													
386	Bhubaneswar on NH16(LHS).	GANJAM	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Within 2km of Soro Post office, on											Draw of		
387	Soro Anantpur Road.	BALASORE	REGULAR	105	OBC	DC	20	20	400	25	45	Lots	15	4
	New Mango Market chowk to													
	Radhakrushna temple on													
	Berhampur bypass road(within											Draw of		
388	municipality limit)	GANJAM	REGULAR	110	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 1KM from College square											Draw of		
389	Kotinada on SH30. Block- Aska	GANJAM	REGULAR	135	OPEN	DC	35	35	1225	25	60	Lots	15	5
	within 1km from Mundamarai									_		Draw of		
390	towards Sorada on NH59.	GANJAM	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots	15	5
	From Kolnara chowk to Kolnara Fire											Draw of		
391	Station on NH326.	RAYAGADA	REGULAR	161	OPEN	DC	35	45	1575	25	75	Lots	15	5
				0	0					-		Draw of		_
392	MANCHESWAR NOT ON NH/SH	KHORDHA	REGULAR	250	OBC	DC	20	20	400	25	60	Lots	15	4

	Khurda new bus stand square to		1 1									Draw of		
393	palla todapada NH junction	KHORDHA	REGULAR	170	SC	CFS	20	20	400	0	0	Lots	0	3
333	From First gate to Ambagada	KIIONDIIA	REGULAN	170	30	CIS	20	20	400	0	0	LOUS	- 0	3
	towards Dighapandi on SH17(ON											Draw of		
394	RHS).	GANJAM	REGULAR	192	OPEN	DC	35	35	1225	25	60	Lots	15	5
	From RTO Phulbani to FCI Chhak on				· ·							Draw of		
395	NH157.	KANDHAMAL	REGULAR	155	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
	Khallikote Within NAC Limit(Not on											Draw of		
396	SH/NH).	GANJAM	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	·											Draw of		
397	Kalinga studio chak to Bharatpur	KHORDHA	REGULAR	190	ST	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
398	From Mahipur to lunisara on NH-57	NAYAGARH	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Balugaon with NAC limit Not on											Draw of		
399	NH/SH	KHORDHA	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 4KM From Kalinga chakk on											Draw of		_
400	NH157. Within 3KM from Gayagonda Chakk	KANDHAMAL	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots	15	5
401	on SH37.	GANJAM	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
401	Pattamundai within NAC Limit (Not	GANJAW	REGULAR	110	OPEN	DC	33	33	1225	25	60	Draw of	15	5
402	on NH/SH)	KENDRAPARA	REGULAR	160	SC	CFS	20	20	400	0	0	Lots	0	3
702	Firestation Square to Chorda Chowk	RENDIKALAKA	REGOLAR	100	30	CIS	20	20	400	0	0	Draw of		
403	on LHS	JAJPUR	REGULAR	150	OBC	DC	20	20	400	25	45	Lots	15	4
	From Icchapur Gate to Suvani on													
	NH16(On LHS towards Girisola													
404	wihtin Odisha Territory)	GANJAM	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Haldiapadar proposed new													
	bus stand towards Vizag on													
405	NH16(On RHS).	GANJAM	REGULAR	255	OPEN	CC	35	45	1575	25	10	Bidding	30	5
												Draw of		
406	Rimuli to Champua on NH20 on LHS	KEONJHAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Lots	0	3
407	AllMS square Aiginia to	KILODDIIA	DECLUAD	220	000	66	20	20	400	25	40	British .	20	
407	Chhotraypur Within 2KM from MPV81 towards	KHORDHA	REGULAR	220	OBC	CC	20	20	400	25	10	Bidding Draw of	30	4
408	Motu on NH326.	MALKANGIRI	REGULAR	153	OPEN	DC	35	45	1575	25	75	Lots	15	5
400	Wiota on Wi1320.	WALKANOINI	REGULAR	133	OFLIN	DC	33	43	1373	23	73	LOUS	13	
	2KM From Paralakhemundi New											Draw of		
409	Bus stand towards Gunupur on SH4.	GAJAPATI	REGULAR	140	OPEN	DC	35	35	1225	25	60	Lots	15	5
					1							Draw of		
410	Konark within NAC Not on SH/NH	PURI	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
	Kalinga nagar chak to kalinga vihar											Draw of		
411	on main road	KHORDHA	REGULAR	270	ST	CFS	20	20	400	0	0	Lots	0	3
	Polasara Block Chhaka to													
	Kokaranda Square on main road				1					_		Draw of	_	_
412	Polasara(Within NAC Limit) .	GANJAM	REGULAR	110	OPEN	DC	20	20	400	25	45	Lots	15	5
442	From CUTM University to	CALABAT	DECLU 45	455	ODEN	B.C	25	4.5	4575	25		Draw of	4.5	_
413	Narayanpur on NH326A.	GAJAPATI	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots	15	5

	Nimanara within NAC Not on		1		1							Draw of		
414	Nimapara within NAC Not on SH/NH	PURI	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
414	OMP Square to Chauliagani on	PURI	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of	15	4
415	Cuttack Paradeep Road	CUTTACK	REGULAR	160	SC	CFS	20	20	400	0	0	Lots	0	3
415	2km from Khilamunda chowk	CUTTACK	REGULAR	100	30	CF3	20	20	400	U	U	Draw of	U	3
416		DAVACADA	DECLUAD	151	ODEN	DC	25	45	1575	25	75		4.5	-
416	towards Gumuda on NH326.	RAYAGADA	REGULAR	151	OPEN	DC	35	45	1575	25	75	Lots	15	5
447	Photosodo o CH 04	CUTTACK	DECLUAD.	160	ODEN	D.C	25	25	4225	25	60	Draw of	45	-
417	Bhatapada on SH-9A	CUTTACK	REGULAR	160	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Jatni town within municipal limit			460	000		20	20	400	25		Draw of		_
418	Not on SH/NH	KHORDHA	REGULAR	160	OBC	DC	20	20	400	25	45	Lots	15	4
												Draw of		_
419	Khandagiri chak to Nakagate chak	KHORDHA	REGULAR	180	OPEN	DC	20	20	400	25	60	Lots	15	5
										_	_	Draw of	_	_
420	Pipili within NAC not on NH/SH	PURI	REGULAR	160	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 3 KM from Jajpur Road													
	Firestation Square towards Panikoili											Draw of		
421	on LHS of NH-20	JAJPUR	REGULAR	200	OBC	DC	35	45	1575	25	75	Lots	15	4
	Kalinga nagar chak to Nakagate											Draw of		
422	chak	KHORDHA	REGULAR	260	OPEN CC 1	DC	20	20	400	25	60	Lots	15	5
	Marshaghai to Kendrapara on LHS													
423	of NH-53	KENDRAPARA	REGULAR	280	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Chandikhol towards Paradeep													
	on LHS of NH-53, Between Mile											Draw of		
424	Staone No-2 to Mile stone No-6	JAJPUR	REGULAR	300	SC	CFS	35	45	1575	0	0	Lots	0	3
	Revenshaw University to Jobra											Draw of		
425	Anicut on Jobra Road	CUTTACK	REGULAR	150	OBC	DC	20	20	400	25	60	Lots	15	4
	Nuapada to Press Chaka on											Draw of		
426	Industrial Estate Road	CUTTACK	REGULAR	240	OPEN	DC	20	20	400	25	60	Lots	15	5
	Firestation Square towards Ragadi													
	Between Mile stone No 221 to 223													
427	on LHS of NH-20	JAJPUR	REGULAR	280	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Huma village to Huma hatta													
	on NH16 towards Bhubanewsar(ON											Draw of		
428	LHS).	GANJAM	REGULAR	185	ST	CFS	35	45	1575	0	0	Lots	0	3
	At Talabeda, within 2 km of level											Draw of		
429	crossing Talcher on NH 53	ANGUL	REGULAR	180	OBC	DC	35	45	1575	25	75	Lots	15	4
	Manguli to Choudwar on either side											Draw of		
430	of NH-55	CUTTACK	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Lingipur chak to sai mandir chak on									-	t - T			
431	NH 316 (LHS)	KHORDHA	REGULAR	300	OPEN CC 2	CC	35	45	1575	25	10	Bidding	30	5
731	Within 2 Km from Jagatpur Flyover	KIIONDIN		300	51 211 66 2		33	7,7	1373	2	10	Sidding	30	,
	towards Kendrapara on Cuttack-											Draw of		
432	Kendrapara road	CUTTACK	REGULAR	200	OBC CC 1	DC	20	20	400	25	45	Lots	15	4
732	Within 4km from Rayagada town	COTTACK	MEGGLAN	200	ODC CC I	DC	20	20	700	23	7.5	LOG	13	
	railway flyover towards											Draw of		
433	7 7	RAYAGADA	REGULAR	105	SC CC 1	CFS	20	20	400	0	0		0	2
433	Parvatipuram(Not on NH/SH).	KAYAGADA	REGULAR	102	SC CC I	CF3	20	20	400	U	U	Lots	U	3

	MULTINE STRATE OF THE STREET				1		1	ı						
	Within 2 KM from Sundargram													
	towards Phulnakhara on LHS of SH-													
434	60	CUTTACK	REGULAR	260	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Manguli Chowk to manguli Toll													
435	Plaza	CUTTACK	REGULAR	330	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Rasulgarh square to Mancheswar											Draw of		
436	Industrial estate	KHORDHA	REGULAR	280	OBC	DC	20	20	400	25	60	Lots	15	4
	Kaptipada to Nilgiri(in distt											Draw of		
437	Mayurbhanj)on SH19	MAYURBHANJ	REGULAR	100	ST	CFS	35	35	1225	0	0	Lots	0	3
												Draw of		
438	Sati Chaura to Shelter Chack	CUTTACK	REGULAR	180	OPEN	DC	20	20	400	25	60	Lots	15	5
	Dakalekha Bhavan to Nayabazar on											Draw of		
439	Mahanadivihar- Nayabazar Road	CUTTACK	REGULAR	180	OPEN	DC	20	20	400	25	60	Lots	15	5
												Draw of		
440	Khandapara with NAC Not NH/SH	NAYAGARH	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 4KM From Daringbadi													
	Chakk(intersection of NH59 and											Draw of		
441	SH7A) towards Baliguda on NH59.	KANDHAMAL	REGULAR	180	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Berhampur Municipal corporation													
	office to nurture international											Draw of		
442	school on premnagar main road.	GANJAM	REGULAR	110	SC	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
443	Chakapada to bhimapada on NH-57	KHORDHA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
												Draw of		
444	Jobra Anicut to to Jagatpur Flyover	CUTTACK	REGULAR	160	OBC	DC	20	20	400	25	60	Lots	15	4
	Khurda collector office to Pitapalli											Draw of		
445	chak LHS on NH-16	KHORDHA	REGULAR	160	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
	From SubPost Office,Naya													
	Bazar, Jaleswar towards													
	Chandaneswar,on Jaleswar											Draw of		
446	Chandaneswar Road,not on SH	BALASORE	REGULAR	110	ST	CFS	20	20	400	0	0	Lots	0	3
			_									Draw of		
447	KIIT chak to shikarchandi chak	KHORDHA	REGULAR	230	OBC	DC	20	20	400	25	60	Lots	15	4
	From Marshghai towards Paradeep													
	between milestone No. 70 & 71 on			0	0.5					-	,_			
448	LHS of NH-53	JAGATSINGHPUR	REGULAR	350	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Within 2 KM From Tangi towards				0.5					-	,-	5.1		
449	Chandikhol on LHS of NH-16	CUTTACK	REGULAR	300	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Giri market chakk to Aska											D		
	road intersection on corporation			440	0.00				400	2.5		Draw of		
450	road.	GANJAM	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	From khurda New busstand chowk					055			45-	_	_	Draw of	_	_
451	to chandichua chak	KHORDHA	REGULAR	180	SC	CFS	20	20	400	0	0	Lots	0	3
	From Asureswar Chack to Ranipada			222					4005	2.5		Draw of		_
452	on LHS of SH-9A	CUTTACK	REGULAR	220	OPEN	DC	35	35	1225	25	60	Lots	15	5

			1		1		1				1			
	From Jadupur to Marshaghai on													
453	LHS of NH-53	KENDRAPARA	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Rajghat square to Carmel													
	Public School, via Chandan Bazar											Draw of		_
454	and Puruna Bazar	BHADRAK	REGULAR	100	OBC	DC	20	20	400	25	45	Lots	15	4
455	Patia Bigbazar to Patia railway	KILODDILA	DECLUAD	220	CT	CEC	20	20	400			Draw of	•	2
455	station	KHORDHA	REGULAR	220	ST	CFS	20	20	400	0	0	Lots	0	3
456	Bhutamundai Bridge to Jadupur on	KENDDADADA	DECLUAD	200	OPEN	СС	35	45	1575	25	10	Distalia a	20	_
456	LHS of NH-53 Dhauli chak to Uttara chak LHS ON	KENDRAPARA	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
457	NH 316	KHORDHA	REGULAR	230	OPEN	СС	35	45	1575	25	10	Bidding	30	5
457	From Baitrani river bridge till	KHUKUHA	REGULAR	230	OPEN	CC	33	45	15/5	25	10	bluullig	30	3
	Gelpur, Aradi chakk, on LHS, on											Draw of		
458	NH16	BHADRAK	REGULAR	165	OBC PH	DC	35	45	1575	25	75	Lots	15	4
438	INITIO	BHADNAN	REGULAN	103	OBCFII	DC	33	43	1373	23	/3	LUIS	13	4
	Within 1.5 km of RTO office on													
	Keonjhar-Ghatgaon-Panikoili road											Draw of		
459	within KEONJHAR municipality	KEONJHAR	REGULAR	180	ST PH	CFS	20	20	400	0	0	Lots	0	3
	From Bramhani bridge towards				*****							Draw of	-	
460	Kusunpur on LHS of NH-53	JAJPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Duburi Chack to Dakabangala Chack													
461	on LHS of NH-53	JAJPUR	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
												Draw of		
462	Rabi talkies square to Lingipur chak	KHORDHA	REGULAR	220	OBC	DC	20	20	400	25	60	Lots	15	4
	With 1 KM from Military Square													
	towards Fire station Square on LHS													
463	(Not on SH-20)	JAJPUR	REGULAR	290	OPEN	CC	20	20	400	25	10	Bidding	30	5
	infocity to shailashree vihar											Draw of		
464	BHubaneswar	KHORDHA	REGULAR	300	SC	CFS	20	20	400	0	0	Lots	0	3
	Dolipur Sub Registrar Office to											Draw of		
465	Military Chack on LHS	JAJPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Lots	15	5
												Draw of		
466	Khandagiri chak to sunderpada	KHORDHA	REGULAR	250	OBC	DC	20	20	400	25	60	Lots	15	4
	Within 2 KM from Sukinda towards											Draw of		
467	Duburi on NH-53	JAJPUR	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
	From SBI Lanjipalli to Gurukul													
	international college on Stataion											Draw of		
468	Road.	GANJAM	REGULAR	110	ST	CFS	20	20	400	0	0	Lots	0	3
	From Gandhi Chowk to Phulbani													
	Sahi on Circular Road via Catholic											Draw of		
469	Church.	KANDHAMAL	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
	Satyavihar chak to Sai Mandir chak						_			_	_	Draw of		
470	on NH-316	PURI	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
				222					400	2.5		Draw of	4-	_
471	Damana chak to shailashree vihar	KHORDHA	REGULAR	200	OPEN CC 1	DC	20	20	400	25	60	Lots	15	5
	Chrda Chack to Dala Chack on													
472	Jajpur road Main road (Via railway	IAIDIID	DECLUAD	160	ODC	DC	20	20	400	25	45	Draw of	45	
472	Over Bridge)	JAJPUR	REGULAR	160	OBC	DC	20	20	400	25	45	Lots	15	4

	From Chandrasekharpur petrol													
	pump to Niladri vihar Bus stop on											Draw of		
473	niladrivihar road	KHORDHA	REGULAR	200	ST	CFS	20	20	400	0	0	Lots	0	3
474	Chauliaganj to Sikharpur Chhak on	CUTTACK	DECLU AD	450	ODEN	DC	20	20	400	25	60	Draw of	45	-
474	Kaliboda Road. From Chandikhol towards Cuttack	CUTTACK	REGULAR	150	OPEN	DC	20	20	400	25	60	Lots	15	5
	on LHS of NH-16 Between													
	Milestone No-221 to Milestone No-											Draw of		
475	222.	JAJPUR	REGULAR	300	OPEN	DC	35	45	1575	25	75	Lots	15	5
		0.4.0.							-515					
	From intersection of Zilla school													
	road & Vivekananda marg, till											Draw of		
476	station chakk,on Zilla school road	BALASORE	REGULAR	115	OBC	DC	20	20	400	25	45	Lots	15	4
	Khurda post office to taratua on NH-											Draw of		
477	57	KHORDHA	REGULAR	160	SC	CFS	35	45	1575	0	0	Lots	0	3
470	Within 2 KM from Duburi chack on	IAIDUD	DECLUAR.	260	ODEN	66	25	4.5	4575	25	40	British .	20	_
478	RHS of NH-53 towards Sukinda.	JAJPUR	REGULAR	260	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Chandikhol towards Cuttack on LHS of NH-16 Between													
	Milestone no-230 & Mile stone No-													
479	231.	JAJPUR	REGULAR	290	OPEN	CC	35	45	1575	25	10	Bidding	30	5
7,5	From 14-No-Canal to Pohal Chack	3751 610	TREGOED III	230	OI EIV		33	43	1373	23	10	Didding	30	
480	on LHS of SH-9A	KENDRAPARA	REGULAR	270	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Bhadrak Court Complex to Puruna													
	Bazar Chowk, on Kacheri Bazar											Draw of		
481	Court ROad	BHADRAK	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Lots	15	4
												Draw of		
482	Patia chowk to Infocity	KHORDHA	REGULAR	220	SC CC 1	CFS	20	20	400	0	0	Lots	0	3
400	Nobodaya School, Kendrapara to	KENDDADADA	DECLUAR.	440	ODEN DU	D.C	25	25	4225	25	60	Draw of	45	-
483	Gogua Post office on LHS of SH-9A 4km from kelua junction towards	KENDRAPARA	REGULAR	110	OPEN PH	DC	35	35	1225	25	60	Lots Draw of	15	5
484	chikiti on SH22.	GANJAM	REGULAR	105	OBC	DC	35	35	1225	25	60	Lots	15	4
404	Within 2 KM from Nuapatana	GANJAM	REGULAR	103	OBC	DC	33	33	1223	23	00	Draw of	13	4
485	towards Athagarh on SH-65 LHS	CUTTACK	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots	15	5
.03	to war as y tanagam on on os and	COTITION	1120027111	130	0. 2.1		- 55	- 55	1223			2010		
	At Hinjalikatu-From Biju pattnaik													
	square to laxaminarayan temple on											Draw of		
486	Ranguni Street(not on NH/SH)	GANJAM	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 1 KM from CRRI on Cuttack-													
487	Paradeep Road (LHS).	CUTTACK	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Chandabali to Rajkanika on LHS of							_		_		Draw of		
488	NH-20	KENDRAPARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots	15	4
400	Within 2 KM from Ersama towards	IA CATCINICUES IN	DECLUAR	200	ODEN	DC	25	45	1575	25	75	Draw of	45	_
489	Ibrisingh on LHS	JAGATSINGHPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5

	Within 1km from Samjajpur Railway													
	Overbridge towards Bhubaneswar													
	on LHS on NH316 mouza											Draw of		
490	Biragovindpur	PURI	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
430	Бпадочпараг	1 010	REGOLAR	130	OFER	DC	33	73	1373	23	73	Draw of	13	
491	On Tankapani road Bhubaneswar	KHORDHA	REGULAR	230	SC	CFS	20	20	400	0	0	Lots	0	3
	Within 2 KM from Garapur Chack											Draw of		
492	towards Patamundai on SH-9A	KENDRAPARA	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 1 KM from Narayana													
	Chandra Hata towards Sunapala											Draw of		
493	Chack on RHS of SH-65.	CUTTACK	REGULAR	170	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 2 KM from Redcross Chowk											Draw of		
494	towards PaniKoili on SH-56	JAJPUR	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	ITI Chakk to Hemkapada Chakk, on													
	Indira Gandhi Marg, via Matasahi											Draw of		
495	Primary School	BALASORE	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 2 KM from Maa Dhakulei											Draw of		
496	Temple	CUTTACK	REGULAR	150	OBC	DC	20	20	400	25	60	Lots	15	4
	From Paradeep towards Kujanga													
	LHS on SH-12 within 1 KM from NH-											Draw of		
497	53 & SH-12 Crossing	JAGATSINGHPUR	REGULAR	270	OPEN	DC	35	35	1225	25	60	Lots	15	5
	From Chadheidhara Chack towards													
	Chandikhol within 3 KM from													
	Chadheidhara Chack on LHS of NH-											Draw of		
498	53	JAJPUR	REGULAR	230	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Dhanipur to Sareisasan on LHS of											Draw of		
499	NH-55	JAGATSINGHPUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	Phandi Chakk to Cinema Square, on											Draw of		
500	Vivekananda marg, via chidiapolo	BALASORE	REGULAR	100	ST	CFS	20	20	400	0	0	Lots	0	3
	CDA Sector-10 & 11 From Senior													
	Judicial Staff Quarter to Biren mitra											Draw of		
501	Park (LHS)	CUTTACK	REGULAR	200	OPEN	DC	20	20	400	25	60	Lots	15	5
	(=)				1									
	From Dadhapatana Chack to Netaji											Draw of		
502	Subash Chandra Setu on LHS	CUTTACK	REGULAR	180	OPEN	DC	20	20	400	25	45	Lots	15	5
	Tatasii diidiidi di deta dii Elid				1							2013		
	From ITI Chakk till start of Tamulia											Draw of		
503	Gate Flyover, on OT Road	BALASORE	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
505	Jobra Anicut to choudwar on IB-	D/ IE ISONE	2002/11	120	050		- 20	20	400	2	7.5	Draw of	13	-
504	St(Road)	CUTTACK	REGULAR	160	SC	CFS	20	20	400	0	0	Lots	0	3
304	Silitodal	COTTACK	MEGGLAN	100	3.0	013	20	20	400			LOG	0	,
	From Netaji Subash Chandra Setu											Draw of		
505	to Dadhapatana Chack on LHS	CUTTACK	REGULAR	200	OPEN	DC	20	20	400	25	45	Lots	15	5
303	to Badhapatana Chack on Ens	COTTACK	MEGGLAN	200	OI LIV	DC	20	20	400	23	73	1013	13	
	From Khuntuni towards Chowdwar											Draw of		
506	on NH-55 within 2 KM (LHS)	CUTTACK	REGULAR	195	OPEN	DC	35	45	1575	25	75	Lots	15	5
300	OH MIT-33 WILLIIII Z KIVI (LN3)	CULIACK	NEGULAR	133	UPEN	DC	33	43	13/3	23	73	LUIS	13)

	Baghmari chak to gadatara on NH-											Draw of		
507	57	KHORDHA	REGULAR	160	ОВС	DC	35	45	1575	25	75	Lots	15	4
	-	-												
	Within Satyavihar under Pandara											Draw of		
508	Mouza (Bhubaneswar 38)	KHORDHA	REGULAR	210	ST	CFS	20	20	400	0	0	Lots	0	3
	Duburi Chack towards Jajpur Road													
	on RHS of SH-20, between													
	Milestone No-8 and Milestone No-											Draw of		İ _
509	14	JAJPUR	REGULAR	210	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Takataur main road within Barinada											Draw of		
510	Takatpur main road, within Baripada municipality , not on NH/SH	MAYURBHANJ	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
310	Jajpur Road to Panikoili on NH-20	WATORBITANS	KLOOLAK	100	OBC	DC	20	20	400	23	43	LOGS	13	-
	From Milestone No-232 to													
511	Milestone No-235 on LHS.	JAJPUR	REGULAR	270	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Within 2 KM from Military Chack													
	towards Dakabangala Chack on RHS											Draw of		
512	of BijuPattnaik Marg	JAJPUR	REGULAR	390	OPEN	DC	20	20	400	25	45	Lots	15	5
	Baghra road, within Baripada		_									Draw of		
513	Municipality, not on NH.	MAYURBHANJ	REGULAR	135	SC	CFS	20	20	400	0	0	Lots	0	3
F14	Sareisasan to Hazipur on LHS of NH-	IA CATCINICUIDUD	DECLUAD	240	ODC	DC	25	45	1575	25	75	Draw of	45	1 , 1
514	55 From Duburi towards Keonjhar on	JAGATSINGHPUR	REGULAR	210	OBC	DC	35	45	1575	25	75	Lots	15	4
	EXP-01 from Milestone No-18 &													
515	Milestone No-19 (LHS)	JAJPUR	REGULAR	280	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Manguli to Jagatpur within 3 KM								_			Draw of		
516	from Manguli on NH-16(LHS)	CUTTACK	REGULAR	240	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Hospital road, within Rairangpur											Draw of		
517	municipality/NAC limits, not on NH	MAYURBHANJ	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
	At Rambha-From College Square to											D of		
518	United Bank of India on Rambha Main Road (Within NAC Limit)	GANJAM	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
310	Raghunathpur towards Cuttack on	GANJAM	KLOOLAK	100	OBC	DC	20	20	400	23	43	LOGS	13	-
	SH-12 (Between Milestone no-26 to											Draw of		
519	29)	CUTTACK	REGULAR	160	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Cinema square to Motiganj Police											Draw of		
520	Station, on Motiganj Road	BALASORE	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	From Police line chakk till Vigilance													
F24	SP Office, via railway crossing,Angar	DALACORE	DECLUAR.	110	ODC	DC	20	20	400	25	45	Draw of	45	
521	Gadia, Mallikashpur. Udala within NAC limits, not on SH,	BALASORE	REGULAR	110	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
522	not on Udala-Betnoti road.	MAYURBHANJ	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
322	PHULNAKHARA TO GOPALPUR ON	WATORDIAN	NEGOLAR	103	31	CLO	20	20	400	U	-	LUIS	<u> </u>	
523	LHS OF NH-16	CUTTACK	REGULAR	340	OPEN	СС	35	45	1575	25	10	Bidding	30	5
020	2.10 01 1111 20	55		3.0	0				20.0			3.446		

	T				1		1	1			1		1	
	Dakabanglow Chack towards													
524	Chandikhol on LHS of NH-53 within	LAIDLID	DECLUAD	200	ODEN	66	25	45	4575	25	40	British .	20	_
524	3 KM from Dakabanglow Chack	JAJPUR	REGULAR	380	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Gandhi Chowk to Baliaguda Bus													
	stop on Keonjhar-ghatgaon-													
	panikoili road within keonjhar											Draw of		
525	municipality	KEONJHAR	REGULAR	130	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 2 km of Anandapur											Draw of		
526	Municipality Office - not on SH/NH.	KEONJHAR	REGULAR	100	SC	CFS	20	20	400	0	0	Lots	0	3
	From Kalinga chack, Choudwar to													
	Charbatia within 4 km from Kalinga											Draw of		
527	chack	CUTTACK	REGULAR	110	OPEN	DC	20	20	400	25	45	Lots	15	5
	At Kapursingh from mile post no-17											Draw of		
528	to 19 on LHS of on NH-55	CUTTACK	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
	At Paralakhemundi-From Ganesh													
	temple to Govt Hospital on Hospital											Draw of		
529	road(Not on NH/SH)	GAJAPATI	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Tigiria to Athagarh within 3 KM											Draw of		
530	from Tigiria on LHS of SH-65	CUTTACK	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
	At Khemala on NH 149, in Pallahara											Draw of		
531	block	ANGUL	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Lots	0	3
	Kiriburu Chakk to Kalinganagar bus													
	stop within Barbil municipality,not											Draw of		
532	on NH/SH.	KEONJHAR	REGULAR	110	OPEN CC 2	DC	20	20	400	25	45	Lots	15	5
	Mangalpur to Sukinda on LHS of NH-											Draw of		
533	53	JAJPUR	REGULAR	190	OBC CC 1	DC	35	45	1575	25	75	Lots	15	4
	Athagarh Police Station to Khuntuni											Draw of		
534	on LHS of SH-65	CUTTACK	REGULAR	105	OPEN	DC	35	35	1225	25	60	Lots	15	5
												Draw of		
535	Gudari(within NAC limit).	RAYAGADA	REGULAR	105	ST	CFS	20	20	400	0	0	Lots	0	3
536	Banigochha on NH 57	NAYAGARH	REGULAR	205	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Kendrapara to Panchupandav on													
537	LHS of NH-53	KENDRAPARA	REGULAR	275	OPEN	CC	35	45	1575	25	10	Bidding	30	5
538	Jaraka to Kuakhia on LHS of NH-16	JAJPUR	REGULAR	260	OPEN	CC	35	45	1575	25	10	Bidding	30	5
550	Police line Chakk to Gadagadia	5. 51 011		_50	3. EIV		- 33	.5	1373	1		Draw of	- 50	
539	Chakk, on FM College Road	BALASORE	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
333	channy on the conege noud	D, LD LOOKE	ALGGLAN	110	550		20	-20	-50	23	7.5	Draw of	13	
540	Adakata to Krushnapalli on SH-48	NAYAGARH	REGULAR	110	SC	CFS	35	35	1225	0	0	Lots	0	3
540	From Maa ugratara junction to	NATAGANTI	VEGOTAL	110	30	CIJ	33	33	1223	J		LUIS	J	,
	Chandpur police station LHS on NH-													
541	16	NAYAGARH	REGULAR	200	OPEN	CC	35	45	1575	25	10	Bidding	30	5
541	10	INATAGANT	VEGOLAK	200	Oren		33	43	13/3	23	10	Draw of	30	3
542	Atharnala Bridge to Batagaon chak	PURI	REGULAR	240	OPEN	DC	20	20	400	25	45	Lots	15	5
542	U U	PURI	REGULAR	240	UPEN	DC	20	20	400	23	45	Draw of	13	3
543	From Santoshpur to kartikadi on	CANHANA	DECLUAD	115	ORC	DC	35	35	1225	25	60		15	_
543	SH31.	GANJAM	REGULAR	115	OBC	DC	35	35	1225	25	60	Lots	15	4

	Karanjia to Singada chakk on													
	Karanjia-Kiching road within NAC											Draw of		
544	limits, not on NH/SH	MAYURBHANJ	REGULAR	120	ST	CFS	20	20	400	0	0	Lots	0	3
	Within 3 KMs from Dala Chack on											Draw of		
545	RHS of Dala to Sankhachila Road.	JAJPUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Lots	15	5
	1KM From Nuapalli Chowk towards											Draw of		
546	Jagannathpur on SH32.	GANJAM	REGULAR	101	OPEN CC 1	DC	35	35	1225	25	60	Lots	15	5
	From PTC Chhak, Angul to Nalco											Draw of		
547	Nagar Police Station on NH 55	ANGUL	REGULAR	200	OBC	DC	35	45	1575	25	75	Lots	15	4
	Within 5 KM From Sorada Chakk on											Draw of		
548	NH-59.	GANJAM	REGULAR	150	ST	CFS	35	45	1575	0	0	Lots	0	3
	Military Square towards													
	Dakabanglow Chack on LHS of											Draw of		
549	Bijupatnaik Marg	JAJPUR	REGULAR	230	OPEN	DC	20	20	400	25	45	Lots	15	5
	At Kamakhyanagar town within													
	NAC limits on Kamakhyanagar-											Draw of		
550	Anlaberini-Dhenkanal Road	DHENKANAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
	Saleibedapur-I to Adashpur on LHS											Draw of		
551	of SH-60	CUTTACK	REGULAR	120	OBC	DC	35	35	1225	25	60	Lots	15	4
	CDA Sector-10, within 1 Km from											Draw of		
552	BijuPattnaik Park	CUTTACK	REGULAR	170	OPEN	DC	20	20	400	25	60	Lots	15	5
	Within 3 KM from Jagatsighpur													
	town hall towards Balikuda on NH-									_		Draw of	_	_
553	55 RHS	JAGATSINGHPUR	REGULAR	200	SC	CFS	35	45	1575	0	0	Lots	0	3
	Jagatpur to Manguli on LHS of NH-													
	16, within 2 KM from Manguli	CLITTACK	DECLUAD	275	ODEN	66	25	4-	4575	25	40	British .	20	-
554	Chack	CUTTACK	REGULAR	375	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Bijipur Junction towards											Draw of		
555	Gosaninuagaon Road upto Andhapasara road intersection.	GANJAM	REGULAR	130	OBC	DC	20	20	400	25	45	Lots	15	4
333	Badachana towards Tangi on NH-16	GANJAM	REGULAR	130	UBC	DC	20	20	400	25	45	LOIS	13	4
	LHS (Mile stone no-236 to Mile													
556	stone No-237)	CUTTACK	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
330	Nayagarh busstand chak to	COTTACK	REGOLAN	230	OFEIN	cc	- 33	73	1373	23	10	Draw of	30	
557	sampada on NH-57	NAYAGARH	REGULAR	150	SC PH	CFS	35	45	1575	0	0	Lots	0	3
337	Sampada Smith Si	10/11/10/11/11	112002111		50111	0.0	- 55		1373			2010		
	Joda Bus Stand junction to													
	Banaikela PO, within municipality											Draw of		
558	limits,not on NH/SH/Expressway	KEONJHAR	REGULAR	120	OBC PH	DC	20	20	400	25	45	Lots	15	4
	, , , , , , , , , , , , , , , , , , , ,										1			
	From Paradeep towards Chandikhol													
	on LHS of on NH-53 (Between													
559	Milestone no- 67 & 73)	JAGATSINGHPUR	REGULAR	430	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Within 3 Km from Auli Market													
	towards Patamundai on LHS of SH-											Draw of		
560	9A	KENDRAPARA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots	15	5

	I I						1		ı			1	i	
	At Chatrapur-From Visweswaraya													
	Temple to Byagadevi Temple on											Draw of		
561	Main Road(Not in NH & SH).	GANJAM	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
301	Within 2 km from Hulursingha	GANJAN	REGOLAR	110	OBC	ЪС	20	20	400	23	73	1013	13	-
	Chhak towards Hemsurapada on													
	Bypass Road, Angul(NOT ON											Draw of		
562	NH/SH)	ANGUL	REGULAR	120	ST	CFS	20	20	400	0	0	Lots	0	3
	Dasrathpur to Rambag on LHS of											Draw of		
563	NH-20	JAJPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 1 KM from Duhuria crossing													
	towards Kendrapara Town on RHS													
564	of SH-9A	KENDRAPARA	REGULAR	250	OPEN	CC	35	35	1225	25	10	Bidding	30	5
	Baleshwar Golai(kc circle) to Palbani													
	Golai,SH-19,within Baripada											Draw of		
565	municipality	MAYURBHANJ	REGULAR	130	OBC	DC	35	35	1225	25	60	Lots	15	4
	Within 8 Kms,from NH16													
	intersection, towards Rasgovindpur											Draw of		
566	via Amarda road	BALASORE	REGULAR	110	SC	CFS	35	35	1225	0	0	Lots	0	3
	From Dhenkanal Stadium to NH55													
	Junction on College Road within											Draw of		_
567	Municipal Limits (not on NH)	DHENKANAL	REGULAR	110	OPEN	DC	20	20	400	25	45	Lots	15	5
	Choudwar towards Khuntini											D of		
568	between Milestone 18 & 22 on LHS of NH-55	CUTTACK	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
308	OI NR-55	CUTTACK	REGULAR	200	OPEN	DC	33	45	15/5	25	/5	LOIS	15	3
	RHS From Angul RTO Office to													
	Jarapada on NH 55, in between NH											Draw of		
569	Milestone Number 136 to 145	ANGUL	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
303	Within 5kms of Rasgobindpur	7111002	INEGOE/ III	130	OI LIV	- DC	- 33		1373	23	,,,	Draw of	- 13	
570	Chhak on SH61	MAYURBHANJ	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4
												Draw of		
571	Kajipatana to Ratilo on SH13	PURI	REGULAR	110	ST	CFS	35	35	1225	0	0	Lots	0	3
	Hinjalikatu Bijupattnaik square to													
	Kalasandhapur square on NH59(ON											Draw of		
572	LHS).	GANJAM	REGULAR	160	OPEN CC 1	DC	35	45	1575	25	75	Lots	15	5
	From Jeypore LIC Office to FCI											Draw of		
573	godown on NH26.	KORAPUT	REGULAR	157	OBC	DC	35	45	1575	25	75	Lots	15	4
	At Dhenkanal Town in Dakhinakali			-										
	Road, within town limits (Not on											Draw of		
574	NH)	DHENKANAL	REGULAR	110	OPEN	DC	20	20	400	25	45	Lots	15	5
	From Jeypore Police Station to											Draw of		
575	Bariniput Police Station on NH.	KORAPUT	REGULAR	170	SC	CFS	35	45	1575	0	0	Lots	0	3
	At Angul Town, from Hari Mohury													
l	Chhak to Mishrapada Chhak (NOT											Draw of		_
576	ON NH)	ANGUL	REGULAR	190	OPEN	DC	20	20	400	25	45	Lots	15	5

	O MA Construction Charles and	ı			1			1	1					
	8 KM from Kalinga Chowk towards	KANDUANAN	DECLUAR.	405	ODG	D.C	25	25	4225	25	60	Draw of	45	
577	G.Udaigiri on SH-7A.	KANDHAMAL	REGULAR	105	OBC	DC	35	35	1225	25	60	Lots	15	4
	LHS from Katada LP School to													ł
	GRIDCO substation Jamunali on NH-													ł
	55,between NH Milestone no. 125											Draw of		ł
578	to 122	ANGUL	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
	LHS from Tarini Chowk to Khindo in													ł
	between NH Milestone number 262											Draw of		ł
579	to 258 on NH53	ANGUL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Murgabadi Golei to Tadkisul,LHS											Draw of		
580	towards Balasore on NH18	MAYURBHANJ	REGULAR	160	ST CC 1	CFS	35	45	1575	0	0	Lots	0	3
300	From Bhadrak Bonth Chakk to	1000101010	112002111	100	3. 00 1	0.0			2373			2013		
	Jamujhadi Overbridge, on											Draw of		ł
581	NH16,LHS, in Bhadrak District	BHADRAK	REGULAR	155	OBC CC 1	DC	35	45	1575	25	75	Lots	15	4
201		BHADRAK	REGULAR	155	OBC CC 1	DC	33	45	15/5	25	/5		15	4
	From Banarpal Police Station to			242	0.5511		25		4	25		Draw of	4-	_
582	Balhar Chhak on NH 149	ANGUL	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Tumudibandh chakk to											Draw of		ł
583	tumudibandh medical on NH59.	KANDHAMAL	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Lots	15	5
	From Chatrapur College Chowk to											Draw of		ł
584	Bhanagar on NH16 on LHS.	GANJAM	REGULAR	205	ST	CFS	35	45	1575	0	0	Lots	0	3
	Karanjia within NAC limits (not on													
	Karanjia-Kiching road)(not on											Draw of		1
585	NH/SH)	MAYURBHANJ	REGULAR	105	OBC	DC	20	20	400	25	45	Lots	15	4
	From Nalco Nagar Police Station,													
	Angul to Banarpal Police Station on											Draw of		1
586	NH 55	ANGUL	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
300	Bhadrak bypass chhakk to Tihidi	7111002	NEGOEJ III	200	OI EIV	DC	33	7.5	1373	23	,,,	Draw of	13	
587	Police Station, on SH 9	BHADRAK	REGULAR	160	OBC	DC	35	35	1225	25	60	Lots	15	4
367	Balimunda School to Nigamananda	BHADNAN	REGULAR	100	OBC	DC	33	33	1223	23	00	LOUS	13	
	S													ł
	High School, on road from Biras to			400		050	25	25	4005			Draw of	•	
588	Kaithkola	BHADRAK	REGULAR	120	ST	CFS	35	35	1225	0	0	Lots	0	3
	At Gamargola on NH 53, in Bhuban													1
589	block	DHENKANAL	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
														l
	From Kalandiprasad to Godibandha											Draw of		1
590	Chhak, on LHS on NH 53	ANGUL	REGULAR	240	OPEN	DC	35	45	1575	25	75	Lots	15	5
	RHS From Nakchi to Bamur on NH													
	55, in between NH Milestone											Draw of		1
591	number 97 to 93.	ANGUL	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
						-								
	Within 2 km from Machagaon											Draw of		1
592	towards Balikuda on LHS of SH-43	JAGATSINGHPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4
332	Within 2 kms from Nakhara chak	MORISHNOTEUR	MEGOLAN	100	OBC	<i>D</i> C	33	33	1663	23	30	Draw of	13	
E02		KHOBDHV	DECLUAD	205		CEC	25	25	1225				0	2
593	towards niali on SH - 60 (LHS)	KHORDHA	REGULAR	205	SC	CFS	35	35	1225	0	0	Lots	U	3
	LHS From Banarpal Police Station to													1
1	Bhushan Steel Main Gate on NH 55,		I								l	Draw of		l _
594	in Angul District	ANGUL	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5

	At Koraput-From Kalaniketan chowk													
	to Koraput new Hata(within NAC											Draw of		
595	Limit)	KORAPUT	REGULAR	110	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	LHS From Gudiakateni Chowk to											Draw of		
596	Bhushan Steel Main Gate on NH 55	DHENKANAL	REGULAR	180	OBC	DC	35	45	1575	25	75	Lots	15	4
- 550	Sindsham steer main sace on min 55	5112111011011		100	020				1373		,,,	2013		
	Jamujhadi to Basudevpur Chhakk,											Draw of		
597	on Jamujhadi Dhamra road	BHADRAK	REGULAR	135	ST	CFS	35	35	1225	0	0	Lots	0	3
	Ekamra Kannan to Biju patnaik											Draw of		_
598	college chak on LHS	KHORDHA	REGULAR	240	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
599	Ragadi to Jajpur road within 3 KM from Ragadi on LHS of NH-20	JAJPUR	REGULAR	190	OBC	DC	35	45	1575	25	75	Lots	15	4
333	Hom Ragadi on En3 of Wil 20	JAJI OK	REGOLAR	130	OBC	DC	33	73	1373	23	/3	LOUS		
	LHS From Angul RTO Office to													
	Jarapada on NH 55, in between NH											Draw of		
600	Milestone numbers 142 to 135	ANGUL	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5
	LHS FROM PALLAHARA NH149											Draw of		
601	JUNCTION TO PHAPAND, ON NH 49	ANGUL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Within 2KM from potteru Chowk on	7111002	REGOLAR	130	OI LIV	DC	33	-13	1373		,,,	Draw of	- 13	
602	NH326 any side.,	MALKANGIRI	REGULAR	160	SC	CFS	35	45	1575	0	0	Lots	0	3
	At Jeypore- From Shreemati Laxami													
	Panda Chowk to Jay Nagar on Radio				000		20	20	400	2.5		Draw of		
603	Station Road.	KORAPUT	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	At Badajhara on NH 53, in between											Draw of		
604	NH Milestone numbers 334 and 338	DHENKANAL	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Dadhapatana chak to Nandankanan													
605	police station on LHS	KHORDHA	REGULAR	210	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Dhanipur Towards Managlpur on LHS of NH-20 within 2 KM from											Draw of		
606	Dhanipur	JAJPUR	REGULAR	160	ST	CFS	35	45	1575	0	0	Lots	0	3
	Boriguma Junction to Aadarsh													
	model school on NH26 towards											Draw of		
607	Jeypore.	KORAPUT	REGULAR	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	Khordha collector office to Khordha													
608	sadar police station on RHS on NH - 16	KHORDHA	REGULAR	320	OPEN	СС	35	45	1575	25	10	Bidding	30	5
008	From Jaganath temple, pahala to	KIIOKDIIA	MEGGLAN	320	OFLIN	CC	33	43	13/3	23	10	Bluuing	30	,
609	PhulNakhara Chak on NH 16	KHORDHA	REGULAR	380	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Badagada to Rasulgarh via											Draw of		
610	Canal Road	KHORDHA	REGULAR	350	OBC	DC	20	20	400	25	60	Lots	15	4
	From NU19 9, NU16 intersection to											Draw of		
611	From NH18 & NH16 intersection, to Sergarh Toll Plaza, LHS, on NH16.	BALASORE	REGULAR	175	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
011	Jergarii Toli Flaza, Elib, Oli NITTO.	BALASUNE	WEGGEAR	1/3	J1	CIJ	33	40	13/3	U	U	LUIS	U	ر ا

	Rasulgarh chak to Kuakhia Bridge													
612	on NH-16 LHS	KHORDHA	REGULAR	450	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	Infocity Chhak to Damana Chhak on													
613	Nandan Kanan Road	KHORDHA	REGULAR	610	OPEN	CC	20	20	400	25	10	Bidding	30	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by dd/mm/yyyy.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
Regular ROs	сс	ОВС	5000		сс	ОВС	4000
	СС	Open	10000	Rural ROs	сс	Open	8000
	DC	ОВС	5000		DC	ОВС	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papersvis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Bhubaneswar			Angul,Balasore,Bhadrak,Cuttack,
Diiuballeswal	T M Retail, Bhubaneshwar, Bharat Petroleum Corporation Ltd. Alok Bharati Complex, 2nd Floor, Saheed Nagar, Bhubaneshwar, Odisha-751007	0674-2542079 , 7606000332	Dhenkanal, Gajapati, Ganjam, Jagatsinghpur , Jajpur, Kandhamal, Kendrapada, Kendujhar, Khurda, Koraput, Malkangiri, Mayurbhanj, Nayagarh, Puri, Rayagada
Sambalpur	Add1(New): BPCL Territory Office Sambalpur,Bhagwati Complex,Beside Income Tax Office, NH-6, Ainthapali,Sambalpur-768004 & Add2(Old): T M Retail, Sambalpur, P.O. Modipara, Sambalpur - 768002	0663-2522243 , 9437560003	Bargarh,Bolangir,Boudh,Deogarh, Jharsuguda,Kalahandi,Nabarangpur , Nuapara,Sambalpur,Sonepur, Sundergarh
